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Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two of the following : [16]
a) How does the poem ‘Mirror’ describe the woman and mirror?
b) Show how Morris asserts that variety of food makes us better.

c) What does Tagore advise people in ‘Leave This Chanting and Singing
and Telling of Beads’?

d) Comment on the role of the manager in the shop of fire-arms in ‘The
Avenger’?
02) Attempt any four of the following : [16]

a)  Which seven roles performed by man in the poem ‘All the World’s a
stage’?

b) How does uncle Podger hang the picture on the wall?
c) ‘Nicola and Jacopo are the real gentlemen of Verona’. Illustrate.

d) Comment on the theme in ‘The Affliction of Margaret’.
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e) What was the Quick Man’s point of view about the conjurer?

f)  Bring out the metaphorical elements in ‘Gather ye Rosebuds white ye
may’.

g) In what way was the tsunami selective in its destruction?

03) Attempt any two of the following : [16]

a)  Write an essay on “The importance of Teacher in students life”.

b) You want to join company in industrial sector and your father is against
it. Develop a conversation between you and your father.

c)  Write a paragraph on what the students discipline in your college would
be.

d) Your friend has selected as a lecturer in your nearby college. Write a
letter to congratulate him for future prospects.

04) Attempt any eight of the following : [16]

a) Give synonyms of the following words :
i)  Public
i) Remind

b) Give antonyms of the following words :
i)  Unhappiness
ii) Clever

c) Rewrite the sentences using appropriate adverbs given in the brackets in
place of ‘very’.
(admirably, annoyingly, extremely)
i)  Boys are very naughty these days.
i)  Terrorism is a very serious issue in these days.

d) Form one word each using the following prefixes :
i)  Pre
ii)  Vice

e) Make adverbs:
)  Quick
i) Happy
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g)

h)

)

k)

Use the following words in a sentence each :
i)  Pleasure
i)  Education.

Give one word substitute for the following :
i)  One who tills the farm.
i)  One who directs the film.

Give full forms of the following words :
i) POP
i) VIP

Give short forms of the following words :
i)  National Service Scheme.
ii)  British Broadcasting Corporation.

Give noun forms of the following words :
i)  Direct
i) Exam

Give the meanings of the following phrases :
i)  To carry on
i) To be aware of

05) Do as directed (any eight) :

a)
b)

c)

d)

g)

Write a sentence that begins with ‘You can

A holiday is declared by the State Government.
(Change into Active voice)

Taj Mahal is one of most memorable monument.

(Use appropriate article)

Pandit Nehru was the first Prime Minister of India.
(Add a question tag)

This is the book .
(Complete the sentence using suitable clause)

here sir is still another make said the man
(Punctuate the sentence)

The girl is writing a

(Use appropriate word)
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h)  Will you mind dropping me at school, please?
(Change into imperative sentence)

i)  Keralais a very nice state to visit.
(Make it exclamatory sentence)

j)  Some orators speak
(Use appropriate adverb)

k) They has/have done their duty.
(Use appropriate auxiliary verb)

) I am important her.
(Fill in the blanks using appropriate preposition)

* ¥ *
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Total No. of Questions : 5] SEAT No. :

P417 [Total No. of Pages : 7
[4701]-102
F.Y. B.A.
MARATHI
G-1: sygfAes "Audt argaT
(STt s1vETEshA) (2008 Ued)
gz : 3 @] [Tgor 7OT - 80
graTgEad  : i) &l
ii) HreqFHEG
iii) sFTAFTR® #I31
gaar :—1) @d 9T ATAVIH AT,
2) IwEiHSIT ik IR qOT o7 FAAATA.

gy7 1) d) WreAdeh HITeATEr g St 3w 150 vregma forer. [10]
1) hTEHHT GANHETAA Teaefi WINuT= gt FUse i,
ii) wRiEATd UTgUaTaT UReETe e HE T ?
iii) Tvwet wREHA TN a7 faeg &
iv) STw FeEAmTdt v Ui ATavaeRdr 3THd ?
) WTTedeh ShivTeaTgt g gt 150 ysga I ferer. [10]
i) =afwaa faeETdie ared gehie T T .
i) ‘cafrua’ a1 Aeheudd TEEY TASE .
iii) =afrae freRT T SIEUT SHIveaT™ WRIe ISTEUMEE |,
iv) wafwmae feRmETdie auTYr Sivear™ qgw favre .
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)

WTeteTdeh! shivTeaTal 3 weAre 150 vregia 3w forar. [10]
1) SdUEIATdA S Ugw |,

i) WA TRH SaHHUSAT STavaehal FUe .

iii) geoh-Tea WIEAATEAT HATET TUSE T

iv) ITTeRTITETUf el shTdshATa Wgwd farvre .

gg72) 3N) Wrelicidehl shiureargl urer gearen 3w 20 vrsgia forgr. [5]
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i) foer Wi = qut e @ ?

i) ‘o’ T RV AEEILTATA AT ?

iii) ‘@’ o wrar Algea 1| wE ?

V) Y.9.391d7e FT SRI0Te S9TTeier It Ui “STYats . 3 SRaTdT Shed 3TE ?
V)  TERTHTATA S Raeherl ShiuTeaT TTE SATeRyuT 3113 ?

vi) TR e e

Vii) SHeheyT HTSTEe Iredr Femrehert P a0 & ?

Wt wvreET T vt 3w 20 vsata fora. [5]
i) a%a a9e grean siadel & Ihl SHIvTd ?

il) ofHE aTea Arean HTeavie g1 Sk Afdrest dmm.

iii) ggfoa wTerTe et RUTETE G HIEETETE A& |,

iv) ‘O HrEEn ST AT e UL 3TH SRV el Tgee ATE ?
V) dOTHASIEl ek AreAl shidd=i 2= aidsl |,

Vi) T TEGEH ITAT HIVATE S hiraT WU ATl |,

vii) TrersTeR FaTaeat AT WETGR el AT W THA ATILE TAT ST ?



g7 3) ) TWIATAUehT hivTeaTdl Teht ToaTa 3 50 veqia forer. [5]
i) ‘o=’ = T@ymifewie faeom wse %,
il) ‘“urét emfor Ui’ = TrETd @ fraTen iitgeTa femror .
q) WU HIUTETE TRt T SW 50 vegia ferer. [5]
i) ‘wreargpearan gefaa War A1 Swiddd UISHITd AT |

i) ‘T a1 Hiddqy TEAGTET Thedh WETeHT Tl ATeaT hiardl e Hyft
THEA AT ?

97 4) @reAterdsh ‘31’ iU ‘q TMerTdier Uedeht Ueht TvaTel 37X 150 vreera forgr.[15]

A) 1) TNEE TS AT AW keI WIS qHT ATTedl A5 o
TEstie Sk e e FETee g ?

i1) fafafern wregiel Tt U TSI AU - hel 3ATg ?

F) i) ‘EER’ 91 wfdqd WA UESE T TARE wEA T wE @red
A ?

1) oHd "T9E AT Hidddiel ATHTNS AT TEET TS .

gy7 5) Wrettedsh ‘31 3ot ‘§ TMerdier Uedeht Ueht gvATel 3w 300 vreera forgr.[15]
A) i) e Tl aRaws RIoERvTE T=e wd ?
i1) ‘srugarem’ wefie gToeTeaT Gl aui o,

F) 1) ‘weawEgl WS gt WG ITeAT Siddd SReuul J J1ITsest
m.

il) ‘wreamegd’ welier oTHg ATea ATeAT Hidara WUEH .
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MARATHI
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gz : 3 arg] [Teor 7OT - 80

gaar :—1) @F I97 QISfavt Jravas 3.
2) IwEIHSIT ik FITE QUT T FIEATA.

797 1) Wrefierieh! HuTeardl a1 gerel 3w 20 weara forar. [20]
i) o U wE ?
il) wigasneATean Yeter o 79 anm
&) i )
®) T ©
iii) @ HvEAT™ HE™ 0.
iv) W SR HivTed it ?
V) U e TR e T U vied fore.
) AT I I AT .
T)  gRUfre SETETE S T w
®) et s T AT o,
T) W yfheg gom



vi) Y& vegran fovrg e |mTEEt A fore.
3) PO q) R
Vii) UEe arepueriEn e A areTd SUERT .

1) ureren fawer v
) AU e A0
viii) 9EIer SIS VegTHTSt TSt UTiRATiues vreg forat.
) Administration
) Vacancy
iX) YErer fawamer avare @R &L
@) wgw e F)  wE
X) U AT YEE Hed foTal.

* O FERTON ATUTETITUATEAT faeiett Heisiee JURTT TEurst eIm=at Sg=ama] Bl
m"’

xi) TrEy™ SUEE IR’ THR 9.
xii) gigavnem gt & ?
Xiil) HTeUT SATFUT HUTYUT TEUTS T ?
g972) A) WIeAIcTdehl hIUTeATE Teht ToaTel I 50 vregia fergr. [5]

1) e SaagRTde 9N g 9.
i) oA U ATgeTd |,
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g7 3) 31)
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Wretel IATT™ ARIvTerEd . [5]

Teha? WA ATd R Uided i 3T ? @1 U9 hed ™ AHasITd e
“Faitor A’ T8 ofigeTd ST <Al I TEUT Uehed WG agere o
Tl HT TTFEA AT UL TehaTerdl grael 378 ATET.

Te] 9Tk ¢ SfeTaleqRT ek 1T, ATt R = ererer gfera amia=
HISd SFTHCATHSS T THASAT YHehaR SATUTUATA T ITAhTd [ GRS
Fog T ARATAE RIEEt A0 o, OHE T Sl atg Teagead
el ATe. Frarer ek BsiaaTe witdsa stfevaren & Arar awed aAre
g, 3@ grar. (97 vrs)

WreAleTieht Tt Teht fawamar 150 vrsgiuda s forer. [10]
i) TaECEATETE ATAvaE dTEl hIuTeT ?

ii) vaeRtl onfuT SATU ATATAA IAHTA WIS HaTg aar .
AT TS IATTl ASTd WTHTaY ahdl. [10]

One day the king saw a poor man working in the field. It was a very
cold day, but the man had very few clothes on. He was singing
merrily while he was working. The king went to him and said,
"Don't you feel cold in this weather?" The man replied No, I don't
feel the cold. You see that I have to work very hard. That makes we
warm." Then the king said to him," You seen to be very happy. Are
you really happy?" The man replied" of course, I am I have no time
to be unhappy."



797 4) 31) TRt ST ve frwarer gan 300 vesia P frer. [15]
i) oTTSTean JAhTYEe SATeg
ii) wEeEA sfEE - wEE T
iii) ureETdter ufgen feaw (eifera)
q) QiR HvrET v R gaR 300 vrsgia e e e [15]
i) STUERTS wER - AR
i) R @ gaw

iii) Prgrom=R W=

SISIS
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[4701]-103

F.Y.B.A.
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[Time : 3 Hours] [Maximum Marks : 80]
Note : 20 marks are reserved for the oral exam.

Question 1)

A) Traduisez en anglais
[10]
Quand Walt Disney était a Paris, je I'ai vu. Notre conversation
a été courte, car le pére de « Mickey Mouse » ne parlait pas frangais
et je ne savais pas l'anglais. Mais il a compris la sincérité de
mes compliments en voyant du balcon de son hétel la foule d’enfants
venus pour saluer 'auteur fameux des dessins animés, il répétait :
« Je suis content ! » ces trois mots francais semblaient lui donner tout
de plaisir a prononcer.
L’histoire de sa vie est bien simple. A neuf ans, Walt vendait des
journaux avant d’aller a I'ecole. Pour payer ses legcons de dessin,
il vendait des pommes et des bonbons. Pendant ia guerre de 1914, a
I'age de seize ans, il était en France comme chauffeur de la
Croix-Rouge. Aprés la guerre, dans un journal pour les fermiers,
il dessinait des vaches et des moutons, trés gais. C’est alors I3,
qu’il s’est attache a la souris MICKEY qui {ui portait bonheur.

Question 2) A) Répondez aux questions suivantes. (3 au choix)
[15]
1) « Par ma foi, il y a plus de quarante ans que je dis de la
prose sans que j'en susse rien, et je vous suis le plus
obligé du monde, de m’avoir appris cela. »En quoi
M. Jourdain est-il ridicule ?
2) Quelle est selon vous la morale de [a fable « La cigale et
la fourmi » de La Fontaine. Expliquez.
3) Quel est le message dans le poéeéme « Pour toi Mon Amour »?
4) Expliquez la douleur et la tristesse du poéte dans le poéme
« Elle avait pris ce plis »
5) Décrivez deux fétes francaises et deux fétes indiennes que
vous aimez.
6) Faites un portrait de Mondo.

B) Choisissez UN des sujets ci-dessous [10]

a) Vous n‘avez pas d’énergie. Vous allez chez le médecin.
Imaginer un dialogue entre le médecin et vous.
u

P.T.O.



Vous voulez partir en vacances. Vous allez au bureau de
tourisme. Vous vous renseignez. Construisez le dialogue.

C) Dites autrement (4 au choix) [4]

a) Distributeur automatique.

b) La bise

c) Consommer.

d) La peine.

e) Le caréme

D) Dégagez le sentiment exprimé [2]
a) « Comment peut-on posséder les étoiles ? »

b) « Ce deuil est sans raison »

E) Quelle phrase dit-on dans les situations suivantes : [2]

a) Pour faire des compliments :
1) C’est&n quoi ?
2) C’est impressionnant.
3) C’est impossible.

b) vous étes chez le médecin car vous étes malade.
1) je me sens bien.
2) je n’ai aucune énergie.
3) j'ai l'intention de partir pour les vacances.

F) Dites vrai ou faux [4]
1) La pétanque est un jeu de boules typiquement lyonnais.
2) En France le péere a aussi droit & un congé

parental aprés la naissance d’'un bébé dans la famille.
3) St Sylvestre est la féte des amoureux.
4) Reglement d’'une facture veut dire le paiement.

Question 3)
A) a)Trouvez les adverbes ; constant, bon.

b) Trouvez les noms : boire, régler.
c) Formez les adjectifs : curiosité, maladie
d) Trouvez les verbes : paiement, parole

B) Remplacez les noms soulignés par les pronoms personnels
convenables.

a) Nous venons de téléphoner mes cousins.

b) Est-ce que Philippe fait le sport a I'école ?
c) Mon frére se moque toujours de ses amis.
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d) J'ai écrit la lettre 2 mon correspondant francais.
C) Mettez les verbes selon les indications données [8]

a) Cet été, nous (repeindre) la maison, elle était en mauvais
état. (passé composé)

b) Quand il arrivera, nous (partir) (futur antérieur)

c) Elle a raconté une histoire qui nous (faire) rire aux larmes.
(Imparfait)

d) Aussitét qu’il (recevoir- Plus que parfait) la nouvelle, il est parti.

e) Mon chéri, tu dors ? (se réveiller- Impératif) vite !
On va étre en retard.

f) Sivous (avoir) encore la faim, resservez-vous sans aucun souci.
(présent)

g) Si vous ne faites pas attention. vous (échouer- Futur) dans
'examen

h) lis (arriver) de Mumbai en voiture (passe récent).

D) Mettez au subjonctif /'indicatif [4]
1) Il faut que tu (aller) voir ton ami a I'nopital.
2) Il est nécessaire que tu (acheter) tes manuels tout de suite.
3) J'espére qu’il y (avoir) une bonne ambiance a la soirée.
4) Je veux que tu (apprendre) vite ce poeme.

E) Mettez au passif [4]

a) On a écrit ce livre.

b) Ma maman fait la tarte aux cerises.
c) Les Legrand achéteront les legumes.
d) Ses amis l'invitent.

F) Faites selon les indications [5]

1) Tu as quelque chose dans ton sac ? (Répondez en utilisant

le négatif)

2) est votre réponse? (Mettez I'adjectif interrogatif)

3) Nous avons déja montré nos photos @ __ amis. Les
avez-vous montrés a . {Mettez les adjectifs/pronoms
possessifs)

4) Envoie-moi les lettres. On a parle de ces lettres hier.

( Reliez avec le Pronom relatif)
5) ___ disques, non je ne les préfére pas, je préfere de
Sony. (Mettez le pronom démonstratif)
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(2008 Pattern)

[Time : 3 Hours] [Maximum Marks : 80]

Note : All questions are compulsory.

Frage I. Ubersetzen Sie! 16]

(A) Ubersetzen sie ins Englische oder ins Marathi! (05)

Lieber Stefan.

wir haben jetzt eine neue Wohnung in Kiel. Sie hat vier Zimmer, ist hell und auch

billig. Wir haben Mdbel fiir die Kiiche und das Schlafzimmer gekauft. Aber wir

haben noch keine Sachen fiir das Wohnzimmer. Einen Schrank brauchen wir fiir

die Kiiche noch. Am Wochenende kaufen wir noch Stiihle. Unsere Wohnung liegt

fantastisch. Wir sind sehr zufrieden.

(B) Ubersetzen sie ins Englische oder ins Marathi! (05)

Liebe Anita.

ich bin gerade drei Tage auf Geschiiftsreise in Wien. Die Stadt ist - wie immer —

wunderschon. Diesmal habe ich etwa Zeit. Gestern war ich in Stephansdom. Heute

bin ich in Prater spazieren gegangen, und dann habe ich im Hotel Kaftee

getrunken und drei Stiick Torte gegessen.

(B) Ubersetzen sie ins Deutsche! (Nur 6) (06)

1.

2

-
3.

That is Angelika. She is from Dortmund.

I don’t like coffee. I like tea.

One can read books here.

Maria calls her sister almost every day.

Roland has bought a new house.

At 18.00 Monika is going in the disco.

I am writing a letter to my friend Marcus in Spain.

[ must tell you something.

P.T.O.



9. Anke has a boring haircut.
10. How did you celebrate your birthday?

Frage I1. Beantworten Sie die folgenden Fragen! (Nur 10) [10]
1. Was sind Thre Hobbys?

2. Was essen Sie zum Friihstiickt?

(F'S]

Was mochten Sie spéter werden?

4. Nichste Woche wird Thre GroBmutter 70. Was schenken Sie ihr?
5. Wann stehen Sie am Montag auf?

6. Was sind IThre Eltern von Beruf?

7. Was haben Sie am Wochenende gemacht?

8. Wer ist Alia Bhatt?

9. Was darf man in der Schule nicht machen?

10. Nennen Sie vier Stadte Deutschlands!

11. Wie ist Thre Wohnung? Wie viele Zimmer hat sie?
12. Wohin reisen Sie gern?

13. Thre Schwester kann nicht schlafen. Was soll sie tun.
14. Sie gehen ins Restaurant. Was bestellen Sie?

Frage II1. Grammatik und Wortschatz. [40]
(A) Schreiben Sie das richtige Verb! (Nur 4) (04)

(sein, lesen, wohnen, aussehen, lernen, helfen, kaufen, finden)

1. Seit zwei Jahren ich Deutsch.
2. Das Essen fertig.
3. Ich meiner Mutter in der Kiiche immer.
4. Die Jacke ich ganz schon.
5. Wir lange ihr Biicher, Kinder?
6. Wir jetzt schon ein Jahr in Berlin.
(B) Ergénzen Sie die Personalpronomen! (Nur 5) (05)
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1. Herr Meier, seit wann wohnen in Miinchen?

2. Meine Eltern wohnen in Hamburg. Ich besuche heute.
3. Gefillt mein neues Haus?
4. Ivan und Sven, wo arbeitet 7

5. Heute hat mein Bruder Geburtstag. Ich habe ein Geschenk fiir

6. Stefan,ichrufe  am Samstag an.
(C) Ergénzen Sie die Possessivpronomen! (Nur 4) (04)
1. Was ist los, Susi? Ist Kamera kaputt?
2. Carl verkauft altes Haus.
3. Herr Bergmann und Frau fahren nach Spanien.
4, Tina hilft Mutter bei der Arbeit.
5. Marco und Mario. wo ist Mutter?
6. Die Kinder spielen im Garten. Sie haben schon Hausaufgabe gemacht.
(D) Ergénzen Sie die bestimmten/unbestimmten Artikel! (Nur 4) (04)
1. Stiihle sind sehr bequem.
2. Ichhaben ~ neue Uhr.
3. Herr Bbhmann moéchte  Kaffee trinken.
4. Dasistein Tisch.  Tisch ist grof.
5. Ichkaufe  rotes Heft.
6. Ich verstehe das nicht. Ich frage ~ Lehrer.
(E) Schreiben Sie das richtige Modalverb! (Nur 4) (04)
1. Hier man nicht rauchen!
2. Stella hat einen Sprachkurs besucht. Sie gut Japanisch.
3. Morgen habe Ralf und Michael Priifung. Sie lernen.
4. Ich haben Bauchschmerzen. Ich Tabletten nehmen.
5. Ich einen Tee trinken.
6. Die Familie Dieter einen Urlaub machen.
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(F) Schreiben Sie die folgenden Sétze im Perfekt! (Nur 5) (05)

1. Ich besuche einen Englischkurs in Berlin.
2. Die Mutter kocht fiir die Familie.

3. Sabine spielt gern Schach.

4. Wir machen einen Ausflug.

5. Wir nehmen die Karten mit.

6. Am Samstag fihrt Elke nach Bremen.

(G) Ergdnzen Sie die richtige Préposition! (Nur 4) (04)
1. Die Tascheist __ Stoff.
2. Ich mag kein Milch. Ich trinke Kaffee _ Milch.
3. Peterkommt __ 10.00Uhr. Er kommt immer spét.

4. Wir spazieren den Fluss

5. Ich bin schon Hause.
6. Ich fahre dem Fahrrad zur Schule.
(H) Wie heiBit das richtige Wort? (03)

1. kurz X lang

grofl X
2. Indien, Deutschland, Spanien :
3. Peter — Vorname

Meier -

(I) Wie heifit das richtige Wort? (Nur 3) (03)
" 1. Man trinkt Wein, Bier und Milch aus einem

2. Ineinem kann man Kaffee oder Tee trinken und eine Torte essen.
3. Berlin ist die von Deutschland.
4. Aufder kann man Briefmarken kaufen.
(I) Was passt nicht? (Nur 4) (04)

1. sprechen — reden — sagen — héren
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Montag — Mittwoch — Sommer — Samstag
3. der Kaffee — der Saft — die Suppe — die Milch
4. Uhr — Auto — Radio — Haus

FrageIV. Lesen Sie den folgenden Text und beantworten Sie die darauf folgenden [08]
Fragen.

Wasser ist Wasser — denken Sie vielleicht. Aber nicht fir Werner Sundermann. Der

Maobeltischler aus Radebeul bei Dresden ist 37 Jahre alt, verheiratet und hat drei Kinder. Er trinkt

nicht gern Bier oder Wein, aber er kann blind 18 Sorten Mineralwasser erkennen — mit oder ohne

Kohlensdure. Er meint: .. vielleicht schaffe ich bald 23. Ich trainiere fleiBig.”

Natascha Schmitt ist Krankenschwester von Beruf. Sie ist 32 Jahre alt, geschieden. wohnt in
Stade und arbeitet in Hamburg. Natascha liebt Autos. Reifenpanne? — Kein Problem! Sie kann in

27 Sekunden ein Rad wechseln. Das ist ein Weltrekord.

(A) Beantworten Sie die folgenden Fragen! (04)

I. Was kann Werner Sundermann machen? Warum tréniert er fleiRig?
2. Welchen Weltrekord hat Natascha Schmitt?

(B) Sind die folgenden Aussagen richtig oder falsch? (02)

1. Werner Sundermann mag kein Bier.
2. Natascha wohnt mit ihrem Mann.

(C) Suchen Sie! (02)

1. Zwei Berufe,
2. Vier Zahlen unter Dreifig.

Frage V. Schreiben Sie einen Aufsatz ODER einen Brief! [06]

{(A) Schreiben Sie einen Aufsatz {iber ,Meine Familie*!
ODER

(B) Schreiben Sie eine Ansichtskarte an Thren Freund/ [hre Freundin.
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Total No. of Questions : 5]
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[4701]-104
F.Y.B.A.
GERMAN (Advanced)
(2008 Pattern)

[Time : 3 Hours] [Maximum Marks : 80]
Frage 1. Ubersetzen Sie! (20)
A] Ubersetzen Sie die Texte ins Englische oder Marathi! 06

Natiirlich gibt es auch junge Leute. die gar nicht ausziehen wollen. Sie bleiben im Elternhaus
auch wenn sie genug Geld ilir eine eigene Wohnung haben. Das meistens kostenlose und
ginstige Wohnen bei den Eltern ist attraktiv, weil sie nicht auf das eigene Auto und teure
Urlaube verzichten miissen. Sie geniessen den ‘Rund-um-die Uhr-Service-" und miissen keine
Hausarbeiten machen. Und dann dann ist ja immer jemand, der zuhért und hilft . wenn man
Probleme hat. Warum also ausziehen? — zu Hause ist doch alles so einfach.

B) 06
Frither ging praktisch jeder Mann arbeiten wihrend die Frau sich um Kinder und Haushalt
kiimmerte. Der Vater war die héchste Autoritdt und traf die wichtigen Entscheidungen. Ein
Mann. der die Wohnung sauber machte? Eine Frau, die Karriere machte? Das war die grofle
Ausnahme. Heute ist es fiir alle Frauen fast selbstverstindlich. einen Beruf auszuiiben. wenn
sich jemand fiir die Kinder kiimmert. Und fiir viele Minner ist klar, dass sie bei der Hausarbeit
helfen miissen.

C) Ubersetzen Sie die folgenden Sitze ins Deutsche! (Nur 4) 08

I would like to buy this book.

Good Evening. Mr.Lucas! How are you doing?

This is Anna from Austria. She wants to learn French.
There is a bed, a table and a chair in my room.

What would vou like to have? A pizza and a coffee.
My flat is very small. But it has a balcony.

N L) o —

Frage 2. Beantworten Sie acht der folgenden Fragen ! 16

Seit wann lernen Sie Deutsch? Warum? Wie finden Sie die Sprache?
Wiirden Sie gern in einer Grofifamilie leben ? Nennen Sie die Vorteile und Nachteile!
Was essen die Deutschen zum Frithstiick?

0 N

=

Nennen Sie drei Bundeslinder Deutschlands?



5. Bekommen Sie Taschengeld? Wofiir geben Sie es aus?
6. Wie feiern Sie [hren Gerburtstag?

7. Was fiir Kleider tragen Sie normalerweise? Warum?

8. Was sind lhre Zukunftspléne?

9. Sind Sie ein Nesthocker oder Nestfliichter? Warum?
10. Kénnen Sie ohne Handy leben? Warum?

Frage 3. Lesen Sie den Text und beantworten Sie die Fragen! 10

Anja wohnt mit ihrer Mutter Ursula, ihrem Vater Hermann, ihren &lteren Schwester Martina und
dem Hund in einem Haus mit groffem Garten. Anja geht aufs Gymansium.: .. Meine
Lieblingsficher sind Biologie, Mathematik und natiirlich Sport.* Auch in ihrer Freizeit ist sie
sportlich aktiv. Sie reitet auf ihrem Pferd. sie fiihrt gerne Fahrard und macht Karate.

Ursula und Hermann sind tolerant. Das findet Anja toll. Sie darf in die Disko gehen, Freunde
besuchen und im nichsten Jahr auch allein in Urlaub fahren (In Urluab fahren = to go on
holiday). .. Der Vater meiner Freundin ist viel strenger.” sagt Anja.

Doch es gibt auch Probleme. ., Anja ist nicht so ordentlich™, drgert sich ihre Mutter. Und was ist
Anjas groftes Problem mit den Eltern? Die beiden rauchen zu viel.

A. Beantworten Sie die Fragen! 04
1. Beschreiben Sie Anjas® Familie!
2. Was ist das Hobby von Anja? Was sind deine Hobbys?
3. Hat Anja probleme mit ihren Eltern? Welche?
4. Schreibe kurz tiber deine Familie! Welche Probleme hast du mit deinen Eltern?
B. Schreiben Sie zwei Maskulin und zwei Feminin Namen aus dem Text! 02

Q. 4 Grammatik 30
A. Bilden Sie das Perfekt! 05

Viktoria wohnt auf der anderen Seite des Flusses.
Welches Kleid gefillt dir?

Der Fahrer parkt den Wagen in die Garage.
Gudrun diskutiert alles mit ihren Eltern.

Mein Bruder verliert sein Heft oft.

Die Kinder trinken heisse Schokolade gern.

S T o e

B. Setzen Sie das richtige Verb in Priiteritum ein! (nur fiinf) 05
( sehen, warten, gehen, kommen, arbeiten, abnehmen, bringen)

1. Der Kellener uns heissen Kaffee.
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2. Lange er auf der Haltestelle, aber der Bus nicht.
3. Die Zahl der Grofifamilien
4. Am Wochenende Herr und Frau Miillers wandern.
5. Gestern wir ein Interview von Boris Becker im Fernsehen.
6. Der Gértner im Gemiisegarten.
C. Ergiinzen Sie die richtigen Priipositionen! (nur fiinf) 05
1. Meine GroBeltern &rgern sich die heutige Mode.
2. Wo sind meine Biicher? Gestern lagen sie doch dem Tisch
3. wen wartest du?
4. Der Bus féhrt den Wald.
5. Die Deuschen interessieren sich sehr Fuf3ball.
6. Die Party ist heute Familie Miiller.
D. Ergiinzen Sie die Adjektiv Endungen! (nur fiinf) 05
1. Fiir Jugendliche sind schick__ Klamotten und ein gut Aussehen wichtig,
2. Steffi Graf und Boris Becker sind berithmt  deutsch Sportler.
3. Das heutig Leben ist sehr hektisch geworden.
4. Denganz___ Tag sind die Eltern bei der Arbeit und die klein Kinder bleiben in den
Kinderkrippen.
5. Viel _ jung Menschen sind an Politik interessiert.
6. In Deuschland achten die meist Menschen auf eine gesund  Erndhrung.
E. Bilden Sie Passiv! 05
1. Im Deutschunterricht spricht man nur auf Deutsch.
2. Zu Diwali dekoriert man das Haus mit Lichtern.
3. Inder Bibliothek liest man Biicher.
4. Er schickt das Paket nach Hause.
5. In einer Apotheke verkauft man Medikamente.
6. Inder Post sortierte man die Briefe.
F. Verbinden Sie die Siitze! 05

(als, weder-noch, Obwohl, trotzdem, sobald, entweder-oder, einerseits-andererseits, nicht
nur-sondern auch)

ls

£ L o

Ich trat ins Zimmer ein. Das Telefon klingelte.

Sie ist zu dick. Sie isst viele Siipigkeiten.

Schreiben Sie mit einem Fiiller! Sie kénnen auch mit einem Kuli schreiben.
Ich habe keinen Regenschirm. Ich habe keinen Regenmantel.

[4701]-104 8



5. Fir die Frauen ist die Familie wichtig. Fiir sie ist ihre karriere auch wichtig.
6. Ich war Kind. Ich lernte Schwimmen.
Frage 5. Ergiinzen Sie den Dialog! 04

A: Hallo. ich i
: Griif dich Tom, Ich heisse Anita.

: Ich komme aus Deutschland, aus Berlin.
9

- Ich bin Studentin und lerne hier Medizin.
{)

: Ja, ich méchte Arztin werden und den Leuten helfen.
+ Sehr gut! Also. Ich habe jetzt Unterricht. Ich muss gehen. Tschiip!

W wWe W W

[4701]-104 9



[Total No. Questons - 4] SEAT No. :
P420 [Total No. of Pages : 4

[4701]-105
F.Y.B.A.
SINDHI - ARABIC
(2008 Pattern)

[Time : 3 Hours] [Maximum Marks : 80]
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Total No. of Questons : 4]

P420
[4701]-105
F.Y.B.A.
SINDHI - DEVNAGARI
(2008 Pattern)
[Time : 3 Hours] [Maximum Marks : 80]
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[Total No. of Questions : 4] SEAT No. :

P421 [Total No. of Pages : 2
[4701]-107
F.Y.B.A.
URDU
General Paper - |
(2008 Pattern)

Time : 3 Hours] [Maximum Marks : 80
Instructions to the candidates :-

1) Attempt all questions.

2) Figures to the left indicate full marks.
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[Total No. of Questions : 5] SEAT No. :

P422 [Total No. of Pages : 3
[4701]-109

F.Y.B.A.
FRENCH (Beginners)
(2008 Pattern)
Text : Apprenons le Francgais (Part - 1, 2)

Time : 3 Hours] [Maximum Marks : 80

Q1. Répondez en frangais. (5 au choix) [10]
1) Nommez deux types de pains frangais.
2) Nommez deux desserts que vous aimez manger.
3) Quel temps fait-il en hiver ?
4) Nommez deux fromages frangais.
5) Nommez les jours du weekend ?
6) Nommez la grande féte au mois de décembre.
7) Ou habitez vous? ( ville, pays)

Q2. Compréhension. Lisez le passage et répondez aux questions
suivantes. [10]
Cher Aditya, .
Je m’appelle Véronique, je suis francgaise et j habite a Bretigny, en France.
Au lycée, j apprends |’anglais, I'allemand et I’espagnol. L’anglais est une langue
tres difficile. Je préfére les mathématiques. J'aime aussi le sport et je joue au foot.
Et toi, combien de langues étudies-tu ? il y a combien d’éleves dans ta classe ?
est- ce que tu pratiques le sport dans ton lyceée?
Aujourd’hui, c’est le demier jour de I’école et je vais a la plage avec mes amis.
et tes vacances vont commencer bientot?
Ecris-moi vite
A bientot
Véronique,

Dites vrai ou faux

Véronique n’habite pas en France.

Elle apprend trois langues.

Aditya écrit la lettre a Véronique.

L’anglais est une langue difficile pour Véronique.
C’est le premier jour de I’école.

Véronique joue au foot.

Donner le contraire: aimer, demier, difficile
Nommez un sport .

P

Q3 )Grammaire
A) Conjuguez les verbes: [10]
1) Je (aller) a la piscine.
2) Pierre, il (mange) trés vite.
3) Tu (acheter) du pain.

P.T.O.



4) Vous (faire) le travail.
5) 1ls (aimer) le film.
6) Vous (dire) bonjour au professeur.
7) Quel age (avoir)-vous ?
8) Tu (parler) a ton professeur ?
9) Nous ne (écouter) pas la radio.
10) 11 (étre) Canadien.

B) Mettez ’article partitif

1) Nous achetons legumes. (2)
2) 1l boit eau minérale.
C) Récrivez les phrases avec le contraire (2)

1) La montagne est haute.
2) C’est une grande rue.

D) Mettez au négatif : (2)
1) C'est un gargon intelligent.
2) Il'y aun chien dans la classe.

E) Mettez au pluriel : (2)
1) J'ai un livre frangais.
2) C'est un village indien.

F) Mettez au féminin. (2)
1) L'acteur est souriant.
2) L'homme est actif et beau.

G) Mettez un adjectif possessif convenable : (2)
1) Elles parlent souvent a amis ?
2) Pierre donne lelivrea  mere.

H) Mettez les phrases en ordre. (2)

1) habitons/ a / nous / Pune / n' / pas
2) gar¢ons/ les/ sportifs/ sont/ les

I) Corrigez les fautes. (2)
1) 1l écrivent sa lettres.
2) Ton tante est canadienne ?

J) Trouvez I'intrus. (2)
1) ordinateur / professeur/ chanteur / acteur

2) il /lu1 / nous/ je / elle

K) Récrivez selon les indications : (6)
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1) Les fleurs sont ---- (blanc / blanches/blancs/ ) (choisissez un adjectif)

2) Le professeur parle  étudiant. ( au, a la aux al” (mettez I’article
contracte)

3) Il prépare les repas. Qui est-ce ? Il est  ( boulanger / chef/ serveur)

4) 1l est (nationalité), 1l habite en Chine.

5) Janvier estle mois de l'année. (Utilisez les nombres ordinaux)

6). Nous mangeons ___ ceufs au petit déjeuner.

(Utilisez "article partitif)

L) Reliez les colonnes. (6)

1. L euro a) les montagnes
2. Le 14 juillet b) le fleuve
3. Les Alpes c) la monnaie
4. Le Bordeaux d) la Féte Nationale.
5 Le parfum e) Chanel
6. La Seine f) le vin

Q4) Traduisez en anglais. (10)

C’est le mois de décembre. Les enfants sont trés heureux parce que les
vacances vont commencer. Le 25 décembre, c’est Noel. 1l fait trés froid et
il y a beaucoup de neige. Les enfants veulent jouer dans la neige et ils veulent
aussi faire le bonhomme de neige. Tout le monde décore la maison avec les
ampoules, les guirlandes et bien suril y a le joli sapin. On décore le sapin avec
les bougies et les cadeaux. Le soir, toute la fam&lle vient dans le salon et on
mange, on danse et on chante les chants de Noel. L’atmosphére est gai et joyeux.

Q5) Ecrivez une composition sur (10)
Mon ami/e QU
Ma classe QU
ou
Ma maison
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[Total No. of Questions : 4]

P424

[Time : 3 Hours]
Instructions to the candidates :

[4701]-112
F.Y.B.A.
PERSIAN
General Paper - |
(2008 Pattern)

1)  All questions are compulsory.
2)  Figures to the right side indicate full marks.

Q1) Explain with examples (Any Ten) :

/Jg;;ﬂg,/ . >

Otei =) 4

?’—’? - €
//}:u’:“'; - &
vt e 2SI L, o

et 2

Q2) Write short notes on Any Two :

Fa 2

J = - o4

Q3) A) Reproduce Any One story.

P BT i -

B) Write short notes (Any One) :

Sl pale 2

SEAT No. :

[Total No. of Pages : 3

[Maximum Marks : 80]
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Sl _~y Colic - 3
[10]
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Q4) A) Explain in Persian or Translate and explain in English, Urdu or Marathi
(Any Five): [10]
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B) Translate the passages in English, Urdu or Marathi (Any Two) :  [12]
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C)  Translate the unseen English passage in Persian, Urdu or Marathi.[8]

A thief entered the house of a pious man. However much he
searched, the could not get anything. He turned Back dejected.

[4701]-112 3



Total No. of Questions : 4] SEAT No. :

P425 [Total No. of Pages : 3

[4701] - 113
F.Y. B.A.
T&ka (SANSKRIT)
G - 1 : QA (Surabharati)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 60
gedr ;& 1) qd gvq ifAar

All questions are compulsory.

2)  STHIhEIeT 37k Ul 7T FIfeard.

Figures to the right indicate full marks.

Q1) ‘3 anfur ‘& fSUnTie Tedeht ShIvTTE Srgrel TRISIa A SUSia aiae &1, [20]

Translate each two from 'A' and 'B' sections into Marathi or English.

fawm - ‘e’ /Section - 'A’

) TR e ATEed: | WIS a1 SRSEHEHTT $ATIERH | § dSE SRIcara-ais—
Feaofife| T greme {3 — g W gH weit: Tat gftreh fom quit e wivad AR
3 A Af grara ameea:|

i) 1893 Rawarse PR 3= TUTEA T HgTeyea 33 TauquRyg Raeud
39 3| el TSHAMHCATRY fvEy gvam HE THTE et SeyiHaTeich:
HATEH TG Shen—awAH: U T 110 Heeiuyg €UuT €2 Tead|

i) ot 7 gty e wen fuserat ot Sase WigeieaEg: | 9o TS gEe graisi

8| HisfU AR HIUTTTERAT: TEERATERICHaR AR RIIrEl Yehie heal f
Feieer wewaEanTga|

P.T.O.



i)

02) ‘e anfun T AN Ieeh! ThIUTTE UehTel FHeH TASeRuT .

fawmr - @ /Section - 'B'
Sitferenti f2 wemmef anHaddq|
T YARTE aremeiisgumEtdl |
T aitd wae ATt
e ShIhATeTd qvar: T A favatall
T 5fE T, WA SR
HgAATY e e g |
BEEELERIE R (ECIEi s C IS R
TR AR YAl Hieatrdareg A: 1|
T STl A SIUTATY T SHTARTeeh:
grui feragia: eomiy o wouifawa: |
SRISAIIRGIHE 3o TeAtafugad -
T dow ot amerisrafiem))

[10]

Explain with reference to context any one from each section, section 'A' and 'B'.

fawm - ‘st /Section - 'A’

T 9 7 AR gt an e w7
FEITaER! TaHash 39 Hehdaqare el |
fawmr - @ /Section - 'B'

0T WETEARE TR |

I T2 avren Ik AUt SeRera |

[4701] - 113 2



03) ‘e enfun ‘T FAUETieT Teieh! VTSl Ueht U9l AR ST . [20]

Write an essay type answer to any one from each section, 'A' and 'B'.

fawmr - ‘e /Section - 'A’
i) TiowEea SIgEn uTeT Tl .
Appreciate the lesson Tiawea aTga™.

i) el Ta SEfevETaTe Hifed v FOAT Al ?
Which suggestions are given by Kautilaya regarding settlement of anew town?
fawmr - @ /Section - 'B'
i) AU UTeTS TR .
Appreciate the lesson gr=aauim.

i) WA 81 UTe SNk ShIcamen TAT el o7 § T .

Explain how 9Raa9rEd is an example of Modern Poetry.

04) Tér 3am e Rk Susia sratad . [10]

Translate the following passage into Marathi or English.

NTE TAHEARTS STEAa: ShISGHTRI: | | T F3ed ATHINg DRHUSh Theel gea
TS AU eha: | T a1 Te DRT: HATGUTER A 761 HueTg: Sehul Wadird
TUTEAST JFIaE ShIFI-RUT T8 FTAIVRERTHA Teied ufd feeram: | a3 gaq s
FEIUTsTita: — i ST feRffe Frerpt: TR | TersuTehn —T Harpe: Toheg TTeo: |
AUFRIEAARA ¢ AIHH| TETRTd FIRIUISTT qHt feam qgHdea ga: w4 e
FrerEarHidgfer:| Ta:| Tamiy ufd: Teite: gema s aem) afufdafeasm
Ferrerotaa e

[4701] - 113 3



Total No. of Questions : 8] SEAT No. :

P426 [Total No. of Pages : 4

[4701] - 114
F.Y. B.A.
G - I : ARDHAMAGADHI PRAKRIT
UTehd el e 99 . 5

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q1) Translate into English or Marathi any two. [8]

)  HEfuid ererTuEHS T geeft won st ufegR afeson gerenTiatl Bedt| sroaun
Tw SUfastt TR | oigw oot wen ffagt s, uesmut ettt dedt| vemit
ST Geuure 5 geeft Tfetent | fergaason s sawR! fafgst | ot st Hawret
Tl T ST W3 Ul |

i)  wrEn - -t et W g ws-2-Reet § @ ago
TEE TeAH Hes O, W foh O uaent sifedr| die wivrefone sroui frerem eifd-
afgst R—aeu-wisugs-Hgsad dsd TRiwst| §1 MES0T 1 =1 5@, e um
ST T3 T A A T YES—aAH UREHE, A iE01 Feeer Tauge |

jii) e wfgd, ‘Teafedr SEHUN AW FeaTEl | TE ¢ FREE | | 6 Sre-wienel REw
Tiferan ST g gle-awmien Jorgan| e gfe-avg=iemn st wa shfta-
AT T GUTS0T g AIReTE Ueged| qefl STaa—gal—&d AIeaul—ATEuul—Heil—
HIEEEATOT WA {1 He01 TwE iU gegiaR SeHuRn |

P.T.O.



Q2) Explain with reference to the context any two. [8]
IV I TERH T .
) ‘SoheE UM, T T e gEgEy ®sit'|
i) A A AR wiE |
i) € wred geife sraen we|

IV) e e uegs|

Q3) Write in detail about benefit of the service done to. [16]
@a and & with reference to IauTeTeRgT.
TR f9Te g g3 qaTHl & & e shed ShUTd WIS giaTd o Ao {orel.
OR / fefan
How the wife of goldsmith taught a lesson to goldsmith?

HARTEAT Ui SHRTET SISt St forenferet ?

Q4) Write critical note on any one. [8]
HIVTATE TR ferereren a fora.
) wm&Es wisdom
waTh g
OR / fean
Dialogue of fargwe and fgfurer.

[4701] - 114 2



Q5) Translate into English or Marathi any two of the following passages :

)

i)

FEATNUT HTE TUat ST 578 GRut i |

< e fRerer—agei, d v gg & afg uife||

S TfeTeEs HUTl STTETe Eife fRetat—hateiii|
7 o aett =3 fordt forgat gfmn wws

A A N, I S 21 wmsen 3 fegefivomn|
e ¥ fareTergun! amol g8 amret [

S-S 3l T Shife et g gfeermnge
T Sivex SaaHl USEm s ||

Shiveet Tyt fermt gur et gitm drefe)
Tfg-gato famme o @ usagsi|
HUeATH T TR qEEE | & e
g -qoRe —eT— (I hgfd o Uereharened ||

e WETarE - SHauTel 1 Serpl aed
2330 MH-aeR d T WER F =

TR ST —aeetal Al FFps! Tahl|
wea g Aige e —-utEd = Tl |
g e Tow SIghE e -heud |

g3 grm-fafer o fusk s&a geur-3 1|

[4701] - 114 3
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Q6) Explain with reference to the context any two of the following : [8]
) wfoea ot ue 3 fa son Reremmottan)
i) T-wE-arel aHl UATE W WE el ura a1l
jii) ==t worg ““wu wfR, gioon fagt g A su e

Q7) Explain momentary existence of all the worldly things with the help of lesson

HGAIRE. [16]
OR / feran

Describe different stories from the lesson ‘gt seya-FHgumEmE .

‘I ST —HEIUETE A1 UTSTHED STTAeHT [afael Tl Jui- .

Q8) Write a critical paragraph on any one of the following : [8]
YEIcTUehl ShIVTEATEl Ueht fawaer forerares ufteag forar.
) &

i) <

[4701] - 114 4



Total No. of Questions : 4] SEAT No. :

P427

[Total No. of Pages : 2

[4701] - 115
F.Y.B.A
G-1: PALI KUSUMANJALI
(2008 Pattern)
yTime : 3 Hours| [Max. Marks : 60
Q1) Translate into English or Marathi. (Any Two) [24]

FUSH feha TUdia W9 . (RIUTAE 2F)

)

Td A YA — Ueh T0F WTen wrafed fagifa Saan srafufvessren s a9 @ v
THAA S A5 WAl HIAT Agestgal Srage feRed TemReid— et
HE, AT, FFUNE TAUMH; T GFRIH FgaiEd w-urd, foew vmwam
Tt [ |39y @ sl {WeRg a9 el duEg; SuEgiHeE e
atfraeean vern= FEdife) vern Pl @ ot fieRg wa vaeae- s,
T, TG A HIAT WIgesTdl SFage (HeRgH TaHRIRI — SISl 318, STgHl,
FEENE TR, T TR FERNE Ty, e Tweem gt )

“oifa e, frerea, shufter geatferitaacaf Tea arf aema <aifeg e
et AR Tl | BT i Sy ST Wi o qud < ferfd =) weaeny,
firerga, o1 il TRERETT T T a1 ST U™ el Al Fisid, SReaWEa
1 MR WiEd = qud o et o ; vama @, fiverga, o sfAte it
gsaIfeREae{R Teanta a1 drre Srfermften et araf< @t et ey
AT Wi < qud = et =)

‘TR TR geoRd Wi eraii- ufem, S, geedi' il v st
T wHuul TEfa- ufed, sreen, geelt | v S gferem e cmata-
“ofcan, Sreen, geolt o | vehsa ST giedl Hive SRfi- i, e geelt fal
Th=H SR el & St - ‘ufed, s, geelifa| v s
geerm ure or il - “ufem, sr=een, geelt ' fo| v S gfeorm afedt gwafy -
ufed, ST, geodi Tl U S g Agg aei - ufed, s,
ool | v S g Attt i - i, s, geelt )

PTO.



02) Explain with reference to context. (Any Four) [16]

TEHTHEId TISIhIUT hl. (SRIVTE! TR)

)  ‘ufeEn, 9F, geelt Bty s T

i) T wEm faam v, fog il g an s

i) ‘o A @, 7, SUIH USY STesiEdl- shgheurgHt T ?
iv) B fom ganfaasm, waf @ 95 wat< wei)

v) w3 o ey, Tt @ gt

vi) T HRMETETE, T At gaRke |

03) Answer any one of the following question: [12]
WTeITdeh! RITTATE! Teht TR Afeea IR foral.

Explain in detail about structure and style of Apannka Jataka?
U] SHTeehTea Jelt o e ee afoem forgr.
OR

Explain in detail information about sundarik sutta?

Haiter ga = fawamer afewd forgr.

Q4) Write a short note on any two: [8]
WTAICTUh! ShIVTCATE Graiar Afaear it fetgt.
i)  Brahman Vagga
FTEI0T T
i)  Sellasutta

g g

iii) Nalak sutta

AleTeh g

[4701]-115 -2-



[Total No. Questons : 4] SEAT No. :

P428 [Total No. of Pages : 5
[4701]-116
F.Y.B.A.
ARABIC General - |
(2008 Pattern)

[Time : 3 Hours] [Maximum Marks : 80]

N.B.:- 1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Total No. of Questions : 4] SEAT No. :

P429 [Total No. of Pages : 8
[4701] - 117
F.Y. B.A.
ECONOMICS
G - 1: Indian Economy
(2008Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each (any two) : [10]
I)  State the concept of developed economy.
i)  State the concept of Net National Product.
i)  State the concept of quality population.

Iv) State the features of MNCs.

Q2) Write notes in 100 words each (any four) : [20]
)  Human Development Index.
i)  Per Capita Income.
i) Age composition.
Iv)  Industrialization.
v)  Social security.

vi) Fiveyear plan.

P.T.O.



Q3) Answer the following questions in 200-250 words each (any three) : [30]
I)  Explain the characteristics of Indian Economy.
i)  State the difficulties of National Income Measurement.
i)  State the features of Indian Industrial Labour.
Iv) Explain the objectives of planning.

v)  Explain the causes of growing population in India.

Q4) Answer the following questions in 500 words each (any one) : [20]

I)  Explain the defect in agricultural marketing and measuring adopted in
agriculture marketing in India.

i)  Explain the salient features of Maharashtra Economy.

[4701]-117 2



Total No. of Questions : 4]

P429

[4701] - 117
FY.B.A.

SOMC]
G - 1 : MR Srefeaen
(2008 Yes)
(WSt FaTR)

3 : 3 amd]
gerr ;g 1) @d 999 qistaul snavas .

2) IerEteRSier sfe qut ur Foifaaa.
3) dqwrarst qez 3Tt T9 ufAekT ugrEl.

[T 701 - 80

v 1)

97 2)

WAl TgATE TRt 50 viegma IR forgl. (ved &)
) forenfem srdfeaawereh Hehoumn @im.

i) feae W ScuTeATR Heheut T

iil)  CieREEEEAT UTEE Heheurl G

V) g U Afvrsest .

TR 100 viegma fem fergn. (ot =m)
) e frera T

i) e S

iii) =R

V)  SitgeireRton

V) G geier

vi)  derafses D

[10]

[20]



97 3) @i e gereht 200 d 250 viee I ot (ShioTad @) [30]
) R creieTeRa ST T .
i) P Seus HiSHIITEA TS WL
iii)  wrdE siteefie wETEh AR wm.
iv) e s we .
V) YRATIA AhHET aTeit Shiul T8 .

g7 4)  @reltet geren W 500 vieeia forgl. (Shiumrdl ueR) [20]

)  ARARIE FHEE U JI g . ST FEEE unude 3 g
FHUATETS! AT AT IUTTIHT €AY el

i) TERTETE StefeueRA=h Sk AfITE TUY W

[4701]-117 4



Total No. of Questions : 4]

P429
[4701] - 117
F.Y. B.A.
ECONOMICS
G- 1:Agricultural Economics
(2008Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each (any two) : [10]
)  Explainthe nature of Agricultural Economics.
i)  Explain the concept of Live stock management.
i)  State the types of Agricultural labour.

Iv) Explain the objectives of World Trade Organization.

Q2) Write notes in 100 words each (any four) : [20]
)  Green Revolution.
i)  Bio - Technology.
i)  Market model Act 2007.
Iv) Drips Irrigation.
v)  Self Help Group.

vi) Rayat Bazaar.



Q3) Answer the following questions in 200-250 words each (any three) : [30]
I)  Explain the causes of suicide of the farmers in India.
i)  Explain the problems of Agricultural Marketing.
i)  Explain the problems of Agricultural subsidies
Iv) State the traditional methods of irrigation.

v)  State the issues of Agricultural price setting.

Q4) Answer the following questions in 500 words each (any one) : [20]
i)  Explain the causes of low productivity of Agricultural in India.

i) State and explain the advantages and disadvantages of World Trade
Organization related to Indian Agricultural.

[4701]-117 6



Total No. of Questions : 4]

P429

[4701] - 117
FY. B.A.

SOMC]
G - 1 : Yl rUvTE
(2008 UeA)
(TSt TUTR)
d% : 3 am]

gt g 1) @ g9 qisfau AEayas Mg,
2) SEihSteT s gut IuT FvitaEra.
3) deufardt ges U< gvAufAT ugrH.

[T 701 - 80

g7 1) Erele S et 50 veeE W ot (FivTd aF)
) it s e T W
i) UYYR TR § HeheuAl TUE FA.
iii) SR SR .
IV) TITdieh SAUR Heew Sesel T8 &.

gv72) w100 vregm fowt fetgn. (shivred = m)
) &0 SR
i) Sta—dE
jii) =R gfaam wEE-2007
iv) fEaw fem
V) T EEE e

Vi) @ aRR

[10]

[20]



g7 3)  Ereitet g Teeht 200 9 250 vregia St forer. (Foradt ) [30]
) YR Jid=aTea SATCHECT ShRul T8 .
i)  vraETe oA TEen Ty .
i) H SIS GEE T .
IV) ST URUTNG, Tget a8 .
V) Vi fera feriRommen we |mm.

g7 4) @it geren S 500 veeia forgl. (Shiuard ueR) [20]
) WRATIA Sl Scaigerdt il STEUaTH Shul €I .
i) <INTdes SUUR Fee< YR Il Hedid wEe—die 9T o T8 &,

[4701]-117 8



Total No. of Questions : 4] SEAT No. :

P430 [Total No. of Pages : 8
[4701] - 118
FY. B.A.
POLITICAL SCIENCE
G- 1: Government & Politics of Maharashtra
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt any two questions. (In 50 words each) [10]
i) Bombay State.
i)  Distribution of the population of Maharashtra.
i) Backwardness of Marathwada.

Iv) Fazal Ali Commission.

Q2) Attempt any four questions. (In 100 words each) [20]
)  Economy of Maharashtra.
i)  Marathwada Vikas Andolan.
i)  Movement of Shetkari Sanghatana.
Iv) Politics of BJP.
v)  State Election Commission.

vi) Agriculture policy of Maharashtra government.

P.T.O.



Q3) Attempt any three questions. (In 250 words each) [30]
i)  Explainthe relations of Maharashtra state with central government.
i)  Describe the Loksabha election of 1989.
i)  Write about the politics of Bahujan Mahasangh.
Iv) Explain the backwardness of Vidarbha.

v)  Write an essay on Dalit movement after 1957.

Q4) Attempt any one question. (In 500 words) [20]

I)  Write an essay on the performance of Congress Party.

i)  State the composition, power & functions of Grampanchayat.

[4701]-118 2



Total No. of Questions : 4]

P430

[4701] - 118
FY. B.A.

TSI
G - 1 : UERIZT IEA SAT0T TTHROT
(2008 Tes)
(WSt FaTR)
d% : 3 am] [T 7T - 80
et cg 1) @d uva @isfavt snasae.

2) SEihSteT s gut IuT FvitaEra.
3) deufardt ges U< gvAufAT ugrH.

v 1)  TETCE IR G T dEa. (SR 50 vrsg) [10]
)  HEs T
i) R deRaEe o
i)  TTSaTETTR ARTEETUT
iV) TRISTeT aTelt hitvE

97 2)  Erelicidehl hivTdgl 9r S99 EEa. (St 100 vregia) [20]
) R seieEEn
i)  eaTe R stEeE
iii) SRt HEE srdem
IV) SISO TSTeRROT
V) e et smam
Vi)  WERIY IIEATE FE HR0T



97 3)  EIeicideh! SIvTaE diF 997 |ieal. (Jaeht 250 vsaia) [30]
) HENIY USAT hy IEATIN T TUE .
ii) 1989 = FiwE Fragurh fvem .
iii) T TETHETE TSR o,
iv) foeure arTEEdUT T .
V) 1957 Javeen gfera wreasier ey forar.

9T 4) @R ATl Tk T9a drean. (500 vrsai) [20]
) wIm e iR e o
i) O A, AR 9 AR,

[4701]-118 4



Total No. of Questions : 4]

P430
[4701] - 118
FY. B.A.
POLITICAL SCIENCE
G - 1: ""Social and Political Movements in Modern Maharashtra."
(2008Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt any two questions. (In 50 words) [10]
)  Non- Brahamin Movement.
i) Issues in Bombay.
i)  Adivasi Movement.

Iv) Farmer's Movement.

Q2) Attempt any four questions. (In 100 words) [20]
I)  Issues in Satyashodhak movement.
i)  Sanyukta Maharashtra movement.
i) Organized sector movement.
Iv) Indiav/s Bharat.
V)  Sugarcane price Issues.

vi) Devdasi movement.



Q3) Attempt any three questions. (In 250 words) [30]
I)  Explain the contribution of Mahatma Phule as a social Reforms.
i)  Explain the Ideology of Brahamo - Samaj.
i)  State the nature and practices of Tribal movement.
Iv) Explain the nature of organised sector workers movement.

v)  Explain the Role of Leftist-panties in Landless Labour movement.

Q4) Attempt any one questions. (In 500 words) [20]
I)  State the contribution of Justice Rande in social reforms movement.

i)  Write an essay on farmer's movement under the Leadership of Mr. Sharad
Joshi.

[4701]-118 6



Total No. of Questions : 4]

P430

[4701] - 118
FY. B.A.

TSI
G - 1: “snYfeh AR AR o AT ABAB
(2008 weH) (Optional)
(TSt FUTR)
d% : 3 am] [T 7T - 80

et :g 1) @d U9 Qisfaut sravaed sied.
2) SEihSteT s gut IuT FvitaEra.

A1) Wi U 3 T dEa. (TR 50 sem) [10]
)  STEURR T@a%
i) e
i) e v
V) Rl T

97 2) EecIdchl vl IR I99 Eigan. (Tt 100 vreem) [20]
) ANy FASTBNIA Haq
i) g ey @
iii)  wufen TR wwaw
V) gieen foreg wra
V)  FEWE qHE

Vi) e T



97 3)  Ereieiie SR @ e dea. (S 250 vsem) [30]
) TR TEISTHYURS FEUR Wl $el Aredl AreHT Tt .
i) FTEN ST Jeies J6% T .
iii)  enfeaT TaH TWEY T FEUGH T w.
iV) wafa SETdiel HIRTR Twaeitl Ty T,
V) &R SaEsiie Jeasidiet STe uett afte favg .

97 4)  WielicTdehl ShivmaTgt Uek 99 @redt. (500 vsam) [20]
) TR TSR U 1. THE AT ATEHT Tt .
i)  IRE SV AT ideRl Jsawier ey et

[4701]-118 8



Total No. of Questions : 5] SEAT No. :

P446 [4701] - 136 [Total No. of Pages : 4
E.Y. B.A.
MATHEMATICS
FMG -1 : Industrial Mathematics
(2008 Pattern)
yTIime : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Graph papers will be supplied on demand.

4) Use of logarithmic tables and non-programmable calculators is allowed.

Q1) Attempt each of the following: [16]
a) Explain the terms nominal rate of interest and effective rate of interest.
b) I owe Rs. 1,25,000 due without interest three years from today. What

sum should my creditor be willing to accept today if he is able to invest
money at 4% compound semiannually.
c) Explain the term present value of annuity.
d) Find the slope and x - intercept of the line 2x+3y=35.
ind limx’ (x+4
e) Find \m.x (x )
. . . 7
f)  Find the derivative of y, where y = (4x5 - 1) .
g) Lety=3x"-14x+15. Isyincreasing, decreasing, or stationary at x =5.
h) Find the marginal cost and average cost at Q = 3 if total cost TC is given

by TC=3Q*+7Q+12 .

P.T.O.



02) Attempt any four of the following: [16]

a) Define exact and ordinary simple interest. Show that exact simple interest
is equal to the ordinary simple interest decreased by 7 of itself.

b) Find the simple interest and compound interest on Rs. 1,000 for 20
years at 5%, where compounding is done monthly. Find the difference
between compound interest and simple interest.

c) Find the amount and present value of an annuity of Rs. 2275 every 6
months for 8 years, 6 months if money is worth 5.4% compounded
semiannually?

d) M signs anote Promising to pay N Rs . 3,00,000 in 6 years with interest
at 5% compounded quarterly. Four years later N sells the note to P.
How much did P pay if money is then worth 4% compounded semi
annually.

e) Draw the graph of the function y = 3x-5. Find the value of y when x
equals y.

f)  Discuss the continuity of the function f(x)=x"—-7x+3+e" where
xeR.

03) Attempt any two of the following;: [16]
1 i 1
a) 1 With the usual notation, prove that ¢ " '~
) 1) p S a,
i)  On February 1, 1998, X borrowed Rs. 20,000 at 5% compounded
quarterly. What did he owe on August 1, 2010?

b) Plotthe graph of the curves y = x*and y =3x—2. Also find their points
of intersection.

c) Given:C=102+0.7y, 1=150-100i, M =300, M,=0.25Y and

M_ =124 -200i. Find (i) the equilibrium level of income and the

equilibrium rate of interest and (ii) the level of C,[LM and M_ when the
economy is in equilibrium.
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d) Graph the demand function Q, =—4P+0.01Y —5P +10T
When Y =8000,P. =8 and T =4. What type of good is the related
good? What happens if T increases to 8, indicating greater preference
for the good? Construct the graph along the traditional economic lines
with P on the vertical axis and Q on the horizontal axis.

04) Attempt any four of the following: [16]
_8(x) - .
a) Letf (x)= W’ where g(x)and & (x) are both differentiable functions
x)
h(x)g' (x)=g(x)h'(x)
()=

and h(x)#0. Prove that /(%)= n(Y T

[n(x)]

b) Using implicit differentiation find the derivative d_ic} if
3y’ —6y* +5x° =342.

c) Let y=-2x"+15x +84x —25. Determine the critical values at which y
is optimized and using the second derivative test determine whether there
is a relative minimum or relative maximum.

d Ify= |x| then show that y is continuous at origin but y is not differentiable
at origin.

e) Ify= (x4 — 3)(x3 - 2) then find d’y and evaluate it at y =2

dx’ =

f)  Write a short note on price elasticity of demand and supply.
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05) Attempt any two of the following: [16]

a)

b)

d)

The demand function is Q=20-5P .

i)  Find the inverse function.

i)  Estimate the elasticity of both functions at P =2 and P = 3.

b Find li 3x? —T7x
i ind Ilm )
x> 4yt =21

i) Ify=f (x) is differentiable at a then prove that it is continuous at a.

Let TR=14OOQ_6Q2,TC=1500+80Q, Set up the profit function 7.

Find the critical values where 7 is at a relative extremum and test the
second order condition. Also, calculate the maximum profit.

Optimize the function y = (9 -4 x)4 :

1777
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Total No. of Questions : 4] SEAT No. :

P447 [Total No. of Pages : 4
[4701]-137
F.Y. B.A.
PHYSICAL EDUCATION (Theory)

(2011 Pattern)
Time : 2 Hours] [Maximum Marks : 40

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Draw the diagrams wherever necessary.

Q1) Answer the following in 50 words (Any Two): [5]
a)  Write any 5 objectives of Physical Education.
b) Define sports psychology.

c) Write any five principles of sports training.

02) Answer the following in 100 words (Any Two): [10]
a) Importance of Warming up in sports.
b) Define sports Medicine and state its importance in sports.

c) Define first Aid, and give the preliminary steps of first Aid.

03) Answer the following in 200-250 words (Any Two): [15]

a) Define physical fitness and list down the Health & skill related fitness
components in brief.

b) Listdown all events in Athletics.

c) State the importance of recreational games in Physical Education.

PTO.



04) Answer in 500 words. (Any One) [10]

a) How physical Education is important for Health Education discuss in
detail.

b) Give the Merits and Demerits of knock-out tournament and prepare a
fixtures of 24 teams.

1747
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Total No. of Questions : 4]

P447

[4701]-137
E.Y. B.A.

IR fIteror
(2011 Pattern) (Theory)

(AU EUTR)

ge :2 @ | [ T&oT 797 - 40

o L

1) @ gy @islav smasaw o,
2) IwHAiwSier e JuT FIEard.
3) SnmEvaE @9 IHTHET HIE.

gv7 1)

97 2)

el geATer 50 v1egT I fotar. (SRIvTgt 3F) [5]
H) I freroTeR wivTdE T Sfe forar.
q) hISHHEVTET SwE forgt.

F) IS TR Fivad Ut ac forer.

et Ty S 100 visga forgt. (Fivmgt 3F) [10]
31) ITiSTeh eI TWeblale Haed J.
q)  SRISIIERITIATR SaTEAT oTgd, Tl W@ Heed g &

F) TAHIUER FEUN T A AT el MATHE T 90



gy73)  @reie SwErEt gt 200 d 250 vreee W forar. (Hivd 2) [15]

H) VT ggear SarEl SO VeSS o SRS ggedd gewh g

T .
T) olcifeam nftrer ad shen aei I %,

&) IieR Preumed AARSHIHS Webr U fave &
gg74)  Wielie geArEt G 500 veeta 3w forgt. (Fiurardl ) [10]
) VTR fITRTUT @ STRFETE gfoR hEl WEeaTd 311 § Wi favTg .

F) G UL WEG—ale A, 24 HHre HRTEsh T9R .
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Total No. of Questions : 5] SEAT No. :

P448 [4701] - 138 [Total No. of Pages : 4
F.Y. B.A.
MATHEMATICS
MG -1 : Algebra and Geometry
(2008 Pattern)
yTIime : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full Marks.

Q1) Attempt each of the following: [16]
a) Define an equivalence relation on a non-empty set S.

b) If z+w isreal, does it follow that z and w are conjugates of each other?
Justify.

c) Find the remainder when ,* 4+ 3,3 4+ 5 —7 is divided by x + 3.

d) Find an integer x such that 23y =5 (mod 8).

e) Find the center of the conic x* —2xy+3y* —10x+22y+30=0

f)  Find the equation of the plane passing through the point (2,3,5) and
perpendicular to the line whose direction ratios are 3,2,—6.

g) Let @ be cube root of unity. Find the rank of the matrix
1 o o
A=|low o o |
1w

h)  Find the center and the radius of the sphere

X+ y +72°-2x—4y—-62+5=0

P.T.O.



02) Attempt ANY FOUR of'the following: [16]

a) Define Euler’s Q-function. Show that Q( pa)= p%—p“" where ¢ isa
natural number.
b) Solve the equation 27x’ +42x* —28x—-8=0, the roots being in
geometric progression.
c) Ifzandw are complex numbers, then prove that |z + w| < |z| + |w|
X
d) Define the function f:R — (— 1,1) by f (x ) - ﬁ where the positive
square root is taken. Show that f'is one - one and onto. Find f'.
e) Find the gcd of 56 and 72 and express it in the form 56x+72y
f) Ifne N,(n,35)=1 then prove that ;2 =1 (mod 35).
03) Attempt ANY TWO of the following: [16]
a) 1) LetR bea relation defined on the set of integers Z by x Ry if and
only if 3x+4y is divisible by 7. Prove that R is an equivalence
relation. Find all the equivalence classes.
i) Let p be a prime and a,b be integers such that p divides ab then
prove that p/a or p/b
b) 1)  Solvethe equation ,° _ 5 4+ v*_1=0
i) Find the ged of polynomials
f(x)=2x"+x"-4x’+1 and g(x)=x"+2x"-3x" - 2x+2.
c) 1) Letab,c,dx,y, mbe integers such that ;5 = (mod m), ¢ = 4 (mod m).
Then prove that g + ¢ =b+d (mod m) and gc =pd (mod m).
i)  Find all one - one and onto functions from {1,2,3}r0{l,2,3}

[4701]-138
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04) Attempt ANY FOUR of'the following: [16]

a) Derive the condition for two lines ]
1

X=X _ Y= _27%

l, m, n,

to be coplaner

b) Find the equation of a sphere with intercepts a,b,c on x,y and z axis
respectively and passing through the origin.

c) By rotating the axes, origin being unchanged the expression ux+ vy

2 2

becomes u'x’ +v'y’, show that 2 4,2 — ;> +/

d) Find the equation of the plane passing through the intersection of the
planes x4+ y+z=6 and 2x+3y+4z+5=0 and the point (1,1,1).

e) Find the equation of the plane containing point (0,7,-7) and the line

x+1 y-3 z+2
-3 2 1

f)  Find the shortest distance and the equations of the line of shortest distance
x-1_y-2 z-4 dx—3_y—4_z—5
2 3 4 M3 T4 s

between the skew lines.

05) Attempt ANY TWO of the following: [16]

a) Reduce the equation 5x” +6xy+5y° —10x—6y—3=0 to the standard

form and name the conic.

b) Determine the values of k so that the system

x=2y=1,
x—=y+kz=-2
ky+4z=06

[4701]-138 -3-



i)  has aunique solution,
ii)  no solution,
ii) infinite number of solutions,

c) 1)  Findthe equation ofthe sphere passing through the points P (2, 3, —1)

1,1,0) and wh lies on the line ~ =2+ = 2=2
0(1,1,0) and whose centre lies on the line 3= 5 5

ii)  Prove that the intersection of a plane with a sphere is a circle.
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Total No. of Questions : 4]

P449

SEAT No. :

[4701] -139 [Total No. of Pages : 4

F.Y.B.A.

STATISTICAL PRE-REQUISITES

yTIime : 3 Hours]

(2008 Pattern)
[Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of statistical tables and calculator is allowed.
4) Symbols have their usual meaning.
5) Graph paper will be supplied on request.

Q1) Attempt any two of the following: [2%5=10]

a) Draw more than ogive curve for the following frequency distribution:

Class Number of Students
0-10 8
10-20 12
20-30 22
30-40 35
40-50 40
50-60 60
60-70 52
70-80 40
80-90 30
90-100 5

b)  Write a note on partition values.

c) Compute variance for the following data:

15,17, 15,13, 14, 15,15, 12, 11 and 15

d) Write a note on mean deviation.

P.T.O.



02) Attempt any four of the following: [4x5=20]

a) Describe the method of constructing a histogram for a grouped frequency
distribution.

b) Following table gives the frequency distribution of weekly wages of 65
employees of a company.

Wages (Rs.) | Number of employees
250-260 08
260-270 10
270-280 16
280-290 14
290-300 10
300-310 05
310-320 02

Determine the median wages (in Rs.)

c) Define raw moments and central moments for ungrouped frequency
distribution of order ‘r’. Aslo, state the relations between central moments
and raw moments up to order four.

d) Obtain the regression equation of Y on X using the following information:

Profit rate (%)| Growth rate (%)

Mean 20 25

Standard deviation 3 5

The correlation coefficient between the profit rate (X) and growth rate
(Y) 1s 0.9. Also, estimate the growth rate when the profit rate is 16%.

e) Explain the merits and demerits of standard deviation.

f) A variable takes values 1,4,9,....... n?, find its arithmetic mean.

[4701]-139 -2-



03) Attempt any three of the following: [3x10=30]
a) 1) Prepare stem and leaf chart using following data:
10.5,12.3,12.4,10.6, 11.5, 13.6, 14.5, 16.8, 15.2, 15.6, 12.6, 16.7, 13.6,
154,143,109, 16.8,19.2,13.4,11.3, 15.2, 16.9, 14.3, 11.2, 10.6, 16.5,
19.4,12.5, 12.5,11.9.

i) For a distribution of weights of 100 students, mean and mode are
45 kgs and 49 kgs respectively. If the value of Karl Pearson’s
coefficient of skewness is - 0.4 then, find the value of coefficient of
variation and median.

b) 1)  Write a note on concept of regression.
i)  Write a note on scatter diagram.

c) The following data relate to age of husband (X) and age of wife (Y) in
years at the time of marriage:

X Y
23 19
24 19
25 20
26 21
27 22
26 23
Find the correlation coefficient between X and Y. Also, comment on

your result.
d) 1)  State the various characteristics of a good statistical average.
i)  Write a note on stratified random sampling method.

e) State relationship among different class frequencies of different order in
case of three attributes.
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04) Attempt any one of the following;: [1x20=20]

a)

b)

i)

if)

[4701]-139

Explain various methods of construction of unweighted and weighted
index numbers. [10]

Compute coefficient of variation (C.V.) for the following data: [5]

12.3,11.3,12.5,12.45,11.56,12.3,12.6, 11.35, 13.6 and 14.5.

The first three moments about zero of a distribution are 4, 50, and
150 respectively. Comment upon the skewness of the distribution
using appropriate measure. [5]

Calculate Bowley’s coefficient of skewness for the following
frequency distribution: [10]

Class 1-3 |3-5[5-7 [ 7-9]9-11

Frequency|2 (3 | 5 | 3 | 2

Explain the concepts of association of two attributes. [5]

Calculate the coefficient of association between intelligence of

fathers and that of sons using the following information: [5]
Intelligent fathers with intelligent sons =250

Intelligent fathers with dull sons =80

Dull fathers with intelligent sons =90

Dull fathers with dull sons =580

Also, comment on your obtained result.
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Total No. of Questions : 4] SEAT No. :

P450 [Total No. of Pages : 8
[4701]-140
F.Y. B.A.
LOGIC & PRINCIPLES OF REASONING

G - 1: Introduction to Logic & Principles of Reasoning

(2008 Pattern)
Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain briefly any two of the following. [10]
i)  Fallacy of Accident
i)  Universal Affirmative proposition.
iii) Truth functionally compound proposition.

iv) Rule of conditional proof.

Q2) Write short notes on any four of the following. [20]
i)  Fallacy of Affirming the consequent.
ii)  Obversion as a kind of Immediate Inference.
i) Figures of Categorical syllogism.
iv) Problem of Induction.
v) Nature & Structure of a Proposition in Traditional logic.

vi) Distribution of terms in 'O' Proposition.

PTO.



03) Answer any three of the following [30]
i)  Convert and obvert the following propositions.
a) All ants are hardworking.
b) Some philosophers are not artists.
c) Notall girls are talkative.
d) Some smart phones are expensive.
e) All fruits are delicious.

i)  Explain fully the procedure of proving invalidity of invalid arguments
using relevant examples.

i) Determine whether the following statement forms are tautologous
contradictory or contingent with the help of truth table or truth tree method
(any four)

) {{(pva)>(pa)](pa)t>(pva)
b) (p=lq)>p

) O(pvq)=(pilq)

d) (¢2r)>qvp)

) (P q)=(p>q)

f) (pvp)op

[4701]-140 -2-



iv) Give direct deductive proof of any two of the following arguments (The
method of conditional & Indirect proof can be used wherever possible)

a) JFDOUM
M v P
JF/:.P

b) P>(¢>r)
P .t
roslo.g>Ds

¢) (ADB).(C>D)
AvC
1 Bl/.:.D

d) Av(BC)
CoUB
JA/-DCvD

v)  Symbolize the following propositions using symbols given in brackets.
a) He is a good student, therefore he is loved by all. (GL)
b) He escaped several times but was finally cought (E,C)

c) Ifmathematics is difficult, then you will pass only if you work hard.
(D,P.H)

d) He is either dishonest or not lucky (H,L)

e) Itis false that if you are lucky, you can be successful. (L,S)

04) Answer any one of the following;: [20]
i)  Explain in detail the nature of logic & its scope.

OR

[4701]-140 3.



i) Demonstrate invalidity of any four of the following.

a) PHO
M >N

(OM.ON)>(0.P)
N0

b) s>(ToU)

s.0U

OUow

c) A=(BvC)
BE(C\/A)
C=(AvB)

1A
Bv(C

d D>D(EVF)
GO(HVI)
DED(IvJ)

(I2G).(0HDIG)
SO
e) p>20Q
POR
SODR
) (p20)(RDS)

PVR
s0ovis
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Total No. of Questions : 4]

P450

[4701]-140
F.Y.B.A.
LOGIC & PRINCIPLES OF REASONING

G - 1: Introduction to Logic & Principles of Reasoning
(2008 Pattern)
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1)

1)
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Wrefiet faermra uftad snfor ufeerda .
)  Td G HE AT

q)  HIE A HARR THA.

F) HAA G dEESn A6

T) G T WiH HEW FEAT

3) W o TG SEAT.

HAY Frerargrel AT gy FUATE UgHH TN 3Gl oI fawg .
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@) {{(pva)>(ra)](ra)}>(pva)
a) (p=Uq)op

%) O(pvq)=Cpllp)

3 (¢2p)2(@U4qvp)

9 (Pq)=(r>9)

®) (pvp)op



V) WETelTueh! ShIvTTEl G Jrehargren Jehal Teael, STSeaet fohan |raTterss fergerm
UL .

A) OF->IM
MvP

U F/..P

) P>o(¢g>r)
p.t
rosl..g>os

%) (ADB).(CoD)
AvC
O0B/:-D

) Av(BC)
ColUB
JA/-JCvD
v) wama e R suam w6 wreia R R .
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g) Ol Usha STITHITUTER 3118 fehan wrgam At (H,L)
3) o TE h g TR WIEEH S ® 9% g1 (L,S)

g974)  WIelicTieh! ShivTeTgl Ueht I9-el 3w forgt [20]
i) dhyTETS TE 9 T foregaaut fawg .

fren
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ii) IS IR FRAaTEr SRRl gy w.

dA) PoHO
M>SN

(D M.ON)>(O.P)
-0

a) SoO(ToU)

S.0U
~OUow

%) A=(BvC)
B=(CvA)
C=(AvB)

A
~BvC

T) Do(EVF)
Go(HvI)
TES(Iv))

(I>G).(JHDOG)
R

3 PoQ

PoR
QDR

%) (PDQ).(RDS)

PvR
~0QvUS
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Total No. of Questions : 4] SEAT No. :

P451 [Total No. of Pages : 4
[4701]-141
EF.Y. B.A.
SOCIOLOGY
G - 1 : Introduction to Sociology
(2008 Pattern)
Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain any two of the following concepts in maximum 50 words each. [10]
i)  Meaning and Definition of Sociology.
ii) Conformity and Deviance.

iii) Gender.

iv) Dalit Movements.

02) Write short notes on any four of the following in maximum 100 words each.[20]
i)  Nature of Sociology as a science.
i)  Ingroup and outgroup
i)  Social Inequality.
iv)  Social Mobility.
v)  Women Movements.

vi) Modernization.

PTO.



03) Answer any three of the following in maximum 250 words each. [30]

i)  Explain the importance of Sociology.

ii)  Explain, any four characteristics of society.
i) Discuss, Elements of Social structure.

iv) Explain the types of social mobility.

v)  Explain the nature of social movements.

04) Answer any one of the following in maximum 500 words each. [20]

i)  Define socialization, Discuss the agencies and aims of socialization.

i)  Define social change, Discuss the factors of social change.

1747
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F.Y.B.A.
SOCIOLOGY

G - 1 : Introduction to Sociology
(2008 Pattern)
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Total No. of Questions : 4] SEAT No. :

P452 [Total No. of Pages : 4
[4701]-142
F.Y. B.A.
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
G-1:Outline of Pre-History, Proto -History and Early History
(600 B.C. to 1200 A.D.)

(2008 Pattern)
Time : 3 Hours] [Maximum Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each (any two): [10]
i)  Write the main definitions of History.
ii) Whatis a ‘Heritage’?
iii) Explain the term ‘Mahajanapadas’

iv)  What do you know about the Pallavas of Kanchi?

02) Answer the following questions in 100 words each (any four): [20]
i)  State the Literary Sources of Ancient history.
i)  Describe the term ‘Mesolithic'
i) Discuss the Vedic literature.
iv) Define ‘Second Urbanization’.
v)  What do you know about the Persian empire?

vi) State the achievements of the Rashtrakutas.

PTO.



03) Answer the following questions in 200-250 words each (any three): [30]
i)  Discuss the three main periods of ‘History’.
ii)  Why Neolithic Age is called as ‘Age of Revolution’?
iii) Describe the salient types of Megalithic Burials.
iv) Discuss; the Dhamma of Ashoka.

v)  What do you know about the history of Kushanas?

04) Answer the following question in 500 words each (any one) [20]

i)  Discuss the town -planning of the Harappan civilization.

i)  Explain the term Deccan and take a review of the history of the Chalukyas
of Badami
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E.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
G-1:Outline of Pre-History, Proto -History and Early History

(600 B.C. to 1200 A.D.)
(2008 Pattern)
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Total No. of Questions : 4] SEAT No. :

P453

[4701] - 143 [Total No. of Pages : 4

F.Y. B.A.
STATISTICS
Descriptive Statistics

(2008 Pattern) (Paper - I)

yTIime : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full Marks.

3) Symbols and abbreviations have usual meanings.

4) Use of calculator and statistical table is allowed.

5) Graph paper will be provided on request.

Q1) Attempt any two of the following;: [2%5=10]
a) Describe the utility and scope of statistics in industry.
b)  Write a short note on method of stratified random sampling.

c) Findrank correlation coefficient for the following data:

RanksbyA |6 | 5| 4| 3| 2 (1 (8|7 ]| 109

RanksbyB |1 | 2 | 3 [ 4 5|6 7|8 ]|9]10

d) Compute the weight associated with House rent if the group index of all
groups together is 267.

Group Food | Clothing |Fuel House rent Other

Index No. {300 |200 250 150 250
Weight 62 4 6 --- 16
02) Attempt any four of the following;: [4%5=20]

a)  With usual notations show that, § p.> mean deviation about mean.

P.T.O.



b)

For a symmetrical distribution, with usual notations, show that:

(y L 6]

For a group of 10 numbers on a variable the mean and S.D. were
calculated as 60 and 4 respectively. At the time of checking it was
discovered that two observations were wrongly taken as 15 and 30 instead
of 50 and 13. Find the correct mean and S.D.

Define Yule’s coefficient of association (Q), with usual notations show
that: —1< Q0 <+1.

For a certain data, the regression equations are as follows:

10X -3y =55 and X —2Y +28=0.
Find means of X and Y and Corr (X,Y). Also estimate X when Y =2 .

Given that:

2 P4, = 2070, 2 Pod, =1660, 2 pg, =1340, 2 Poq, =1070

Construct Fisher’s price and quantity index numbers.

03) Attempt any three of the following;: [3x10=30]

a)

b)

i)  Show that the correlation Coefficient (r) always lies between - 1 and +1.

i) For moderately skewed distribution the A.M., median and coefficient
of skewness are 86, 80 and 0.42 respectively. Find mode and C.V.

i)  Define coefficient of determination and standard error of regression
estimate.

i)  Explainthe concept of ‘explained variation’ and ‘unexplained variation’

i)  Write a short note on scatter diagram.

i)  The first two moments of a distribution about value 2 are 5 and 60.
Find the mean and variance.

[4701]-143 -2-



Out of 100 students interviewed, 40 liked Indian music, 70 liked
Western music and 20 liked both. Find the number of students who
did not like music and who like at least one type of music.

Given the following data:

CityX | CityY

Size 10 15

Mean 150 200

Variance | 25 36

If r=0.6 then estimate most likely value of X when Y = 110. Also
state which city had more stable prices of commodities.? Justify
your result.

State and prove any two properties of regression coefficients.

Define variance in case of grouped and ungrouped data. State its
merits and demerits as a measure of dispersion.

04) Attempt any one of the following: [1x20=20]

a) 1)

[4701]-143

What is index number? Describe the problems in the construction
of index numbers? [8]

If the rank correlation coefficient between X and Y is 5 and the

sum of squares of differences between the ranks is 55, assuming
that no rank is repeated, find the number of pairs of observations.|6]

The daily earnings (in Rs.) is given below:

Daily earnings |150-200{ 200-250 | 250-300 | 300-350 | 350-400

No. of persons|15 27 30 ? 20

Find the missing frequency if mode of the distribution is 280. [6]

3.
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Given n pairs of observations (xl.,yl.)i =12, n, explain the
procedure of fitting of line of regression of Y on X of the type
Y =a+bX, by least square method. [8]

Derive Spearman’s rank correlation coefficient in case of without
ties of n pairs of observations. [6]

For the following information:

n=25,% x=125) y=100,) x*=1650, Y y* =1460, Y xy=1508.

Later on it was discovered that the two pairs of observations are
taken as (6,14) and (8,6) instead of (8,12) and (6,8). Obtain correct
correlation coefficient between (x,y). [6]
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Total No. of Questions : 5] SEAT No. :

P454 [4701] - 144 [Total No. of Pages : 4

F.Y. B.A.
MATHEMATICS (Applied Mathematics)
AMG -1: Calculus

(2008 Pattern)

yTIime : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full Marks.

Q1) Attempt each of the following: [16]

a) Find the least upper bound and the greatest lower bound of the set

Sz{ﬂhze N}

n

b)  Give an example of divergent sequences (x ) and (y, ) such that (x_+y )
is a convergent sequence.

c) Establish the convergence or the divergence of the series whose n-th

. -1
term 1s n

1
d) Determine a condition on |x - 1| that will assure that ‘xz - 1‘ < 5

e) If y= x3 sin X, find A

) (1
f)  Evaluate %EB X sm( ;)

g)  Use the definition to find the derivative of f (x)=x’,x€ R

tan x

07[ Viva
h) If €| 0.7 | find,);,

X

P.T.O.



02) Attempt any four of the following: [16]

a) Prove that between any two real numbers there is a rational number and
an irrational number.
b) Show that every convergent sequence is a Cauchy sequence.
c) Prove that ||x| —|y|| < |x— y| forall x,ye R
S S L
d) Let%= \/n2 1 \/n2 o \/m Show that the sequence
(a ) is convergent and find }g{} a,.
2x+1
e) Determine the set S = {x €R < 1}.
x+2
f)  Using the definition of limit of a sequence, show that },me ] =0
03) Attempt any two of the following: [16]
a)  Show that the following two statements are equivalent:
) limf(x)=l
i) limf (x,)=1, for every sequence (x,) which is Properly
convergent to a.
. . I 1 1 _
b) 1)  Show that the series given by 1— 5 + 372 o is convergent.
i} i ! _1
i)  Show that o n(n N 1)(71 N 2) 4

[4701]-144 -2-



c) 1) Define limit of a function. Using definition of limit of a function
11
prove that 1)6121; = > where C >0
0 if xis rational
. )=
i) Let f( ) {1 if xisirrational
show that for every ae R, %gral f (x ) does not exist
04) Attempt any four of the following: [16]

a) If f: [a,b]% [a,b] i1s a continuous function, show that there exists a
point ¢ in [a,b] such that f(c)=c.

b) Find constants ¢, if the function f:(-2,2)— R defined by

x+a if -2<x<0,
f (x)z e+l if  O=x<l, is continuous on (-2,2)
B—-x if 15x<2

¢) Using Taylor series, expand f (x)=x"—5x" +5x° + x+2 in powers of
x=2.

d) Show that there exist two distinct integers m and n such that the
polynomial p(x)=x*+7x’-9 has one root in (m,m+1) and the other
root lies in (n,n +1)

e) State and prove Lagrange’s mean value theorem.

f) Let I=[a,b] be a closed and bounded interval and f:I—R be a

continuous function . Prove that fis bounded on I.

[4701]-144 -3-



05) Attempt any two of the following: [16]

a) 1)
i)
b) i)
ii)
c) 1)
ii)

[4701]-144

Let f be defined on an interval I containing the point C. Show that f
is differentiable at C if and only if there exists a function Q on I that
is continuous at C and satisfies

f(x)=f(c)=0(x)(x—c) forall xe .
Further, show that f"(c)=0(c)

If y=¢"cos (bx + c),then prove that y =r"e™ cos (bx+c+nx)
wh d a=tan”'| = |,a#0
2 2 = s .
ere = /g2 + p? an

Evaluate xl_lg/: (sec x)cmx.

Let f(x)=sinx,g(x)=cotx,xe [0,%] verify that f(x),g(x)

satisfy conditions of Cauchy’s mean value theorem. Further, find
value of c.

For x> 1, prove that x—_1<logx<x—1.

x
' xX’d’y  xdy
Ify = acos(log x)+ bsin (log x )then show  that 07 +_d +y=0
X X

Hence, orother wise, prove that x*y _ + (2n + 1) XY, t (n2 + l)yn =0.

1777



Total No. of Questions : 4] SEAT No. :

P455 [4701] - 145 [Total No. of Pages : 3
F.Y. B.A.
APPLIED STATISTICS
Paper - 1 : Descriptive Statistics
(2008 Pattern)
yTIime : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.

Q1) Attempt any Two of the following: [2x5=10]
a)  Write a note on simple random sampling.
b)  State merits and demerits of arithmatic mean.

c) Explain central tendency of the data. State the requirements of good
measures of central tendency.

d) Draw less than ogive curve for the following frequency distribution:
Class interval 5-10 10-15 15-20 20-25 25-30
Frequency 5 10 15 12 8

02) Attempt any FOUR of the following: [4%x5=20]
a)  Write a note on Skewness.

b) Define mean deviation and standard deviation. State the formula of each
in case of ungrouped data and frequency distribution.

c) Define the following terms:
i)  Open end classes.
ii)  Variables.
i) Exclusive method of classification.
iv) Primary data.

d) Test whether the attributes A and B are independent from the following
data: (AB)=10, (AB)=30, (a«B)=40,(af)=120

PTO.



e) Represent the following data by a suitable diagram.

Country % of Population

15.53
21.72
6.05
5.04
E 51.66

o O w »

f)  For a certain distribution, if Q = 21, Q,= 39 and Q,= 100 then compute
Bowley’s coefficient of Skewness and comment on the result. Also
compute quartile deviation.

03) Attempt any THREE of the following;:

a) 1)
if)
b) 1)
if)
c) 1)
if)
d) i)

[4701]-145

[3 x 10 = 30]

First four raw moments of a distribution are 1,4,10 and 46
respectively. Compute coefficient of skewness and kurtosis based
on moments. [6]

Explain the term population and sample with one illustration each.[4]
Write a note on scatter diagram. [5]
Define the term kurtosis. Explain the types of kurtosis. [5]

Explain the procedure of estimating trend by the method moving

average in time series.

[S]

If N =200, (A) =40, (B) =50, (AB) = 10; find coefficient of
association between A and B.

Given:
Group Group II
n, =60 n, =40
X =400 y =500
o0,=10 o,=11

Which group has less variation ? Justify.

[S]
[6]



i) Given that: nle,in :500,2)@2 =26000 find mean and
standard deviation. (4]
e) 1) For a bivariate data if the two equation of regression lines are
X —-4Y =5 and X —16Y =-64. Find X and Yy also find correlation
coefficient. [5]
i) In a certain contest, ranks assigned by two judges A and B are as
follows:
Rank by judgeA |5 6 3 2 1 4
Rank by judgeB |2 1 4 6 3 5
Obtain rank correlation coefficient [5]
04) Attempt ANY ONE of the following: [1 %20 =20]
a) 1)  Explainthe following terms: [4]
1) Dichotomy.
2)  Manifold classification.
3) Positive Attributes.
4)  Ultimate class frequency
i) Explain any two components of time series. [6]
i) Compute correlation coefficient between X and Y for the data given
below: [10]
X |12 16 18 10 9 20 29
Y |10 12 20 9 13 19 24
b) 1)  State merits and demerits of mode. [5]
ii)  Define regression coefficients byX and be. State any three properties
of regression coefficient. [5]
iii) Examine the consistancy of the following data: [10]

[4701]-145

N=100, (A) =40, (B) =39, (C) = 41, (AB) = 38, (AC) = 35, (BC) =37

71777
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Total No. of Questions : 4] SEAT No. :

P456 [Total No. of Pages : 4
[4701]-146
F.Y.B.A.
PHILOSOPHY
G -1 : Introduction to Philosophy
(2008 Pattern)
Time : 3Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Attempt any two of the following questions in 50 words each : [10]
i)  State the nature of Jalp.
i)  Explain Descartes dualism.
i) Briefly explain the duties of teacher.
iv) Explain the difference between Vaidic and Avaidic philosophy.
02) Attempt any four short notes from following in 100 words. [20]
i)  The notion of value.
i)  Obligation as social concept.
iii) Charvaka's view of the self.
iv) Epistemology as a branch of philosophy.
v)  The basic features of Indian philosophy.
vi) The distinction between 'Shreyas and Preyas'.

PTO.



03) Attempt any three of the following questions in 200-250 words each :  [30]
i)  State the four noble truths in Buddha philosophy.
i)  State an discuss any one theory of punishment.
iii) Describe the statement 'Knowledge is justified as a true belief.
iv) Discuss the nature of Hedonism.

v) Discuss Kant's notion of categorical Imperative in detail.
04) Attempt any one of the following questions in 500 words : [20]

i)  State the theory of purusharthas and bringout it's significance for today.

i)  What is philosophy ? Describe the nature and scope of philosophy.

SR
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Total No. of Questions : 4]
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F.Y.B.A.
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Total No. of Questions : 4]

SEAT No. :
P457 [Total No. of Pages : 4
[4701]-148
F.Y.B.A.
FOUNDATION COURSE (Restructuring)
(2008 Pattern)

Time : 3Hour] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Explain the following concepts in 50 words each (any two) [10]

a) Religion.

b) Democracy.

c) Scientific Method.

d) Privatization.
02) Write the following short notes in 100 words each (any four) [20]

a) Economic Inequality.
b)  Superstitions.

c) Rule of Law.

d) Liberalization.

e) Self Employment.

f)  Problem of pollution.

PTO.



03) Write the answers of the following questions in 200 to 250 words each (any three) [30]
a) Explain the characteristics of Indian culture.
b) State the Merits and Demerits of caste system in India.
c) State the effects of growing population in India.
d) Explain the causes of low productivity of Indian Agriculture.

e) State the causes of sickness of Indian Industries.
04) Write the answer of any one of the following in 500 words. [20]

a) State the measures for the resistance National Integration.

b) State the causes and measures of unemployment.

SR
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Total No. of Questions : 4]

P458

[4701]-149
FY. B.A.
N. S. S. (National Service Scheme)
G -1 : Social Service and Youth
(2008 Pattern) (Revised)

SEAT No. :

Time : 3 Hours]
Instructions to the candidates:
1)  All questions are compulsory.

[Total No. of Pages : 4

[Max. Marks : 80

2)  Figures to the right side indicate full marks.
Q1) Answer the following questions in 50 words each (any two) : [10]
i)  State the concept of education.
i)  State the functions of N.S.S. volunteer.
i) Explain the concept of poverty.
iv) Explain the concept of village adoption.

02) Write short notes in 100 words each (any four) :

Social service.
Special camp.
Group leader.
Over population.
Regular activities.

Data collection.

[20]

PTO.



03) Answer the following questions in 200 - 250 words each (any three) :  [30]
i)  Explain the philosophy of social work in India.
i)  State the types of N. S. S. Camps.
iii) Explain the role of N. S. S. Programme officer.
iv) Explain the slum adoption programme.

v)  Explain the Analysis of Data collection.

04) Answer the following questions in 500 words each (any one) : [20]

i)  Explain the aims and objectives of N. S. S.

i)  Explain the organizational structure of N. S. S. at State level.

SRR
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Total No. of Questions : 6] SEAT No. :

P459 [4701] - 151 [Total No. of Pages : 4
F.Y. B.A. (Vocational Stream)
FUNCTIONAL ENGLISH
An Introduction to English Language and Writing Skills
in English
(2008 Pattern) (Paper - I) (theory)
yTIime : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) a) Write short notes on any two of the following. [6]

i)  Language as a social phenomena.
i)  Speech mechanism.
iii) Diphthongs in English.

b) Fill in the blanks. (any five) [5]
i)  The voiceless consonants in British RP are
i)  The vowel sound in the word ‘team’ is
iii) The final consonant cluster in the word ‘last’ is
iv) The initial consonant sound in the word ‘name’ is
v)  The diphthong sound in the word ‘poor’ is
vi) The central vowels in British RP are
vii) The final sound in the word ‘battle’ is

c) State whether the following statements are true or false. (any five) [5]
i) /b, d, g/ are voiceless plosives.
i)  In the production of oral sounds the soft palate is raised.

iii) /n/isavoiced bilabial oral sound.

PTO.



02) a)

b)

d)

iv) Inthe articulation of consonants there is closure or narrowing of the
air passage.

v)  There are eight diphthongs in British RP.
vi) There are two affricates in British RP.

vii) Vowels are voiceless sounds.

Use the correct tense forms of the verbs given in the brackets. [3]

Some months later the court (pass) the order of release. An
application was (make) for a visa for Anil. He was (go) to America after
four months.

Fill in the blanks with appropriate prepositions given in brackets. [2]
[of; for; of; in]

When Gandhi gave his call — the boycott — foreign goods, women
were — the forefront — the movement.

Change the voice. [2]
i) I made a power point presentation.

i)  The teacher helped us.

Use articles wherever necessary. [2]

— trip through — Silent Valley rainforest is “— journey of excitement
and discovery in — extraordinary environment”, says an eminent biologist.

Correct the following sentences. (any five) [5]
i)  We are mortal beings, isn’t it?

i)  Yesterday he were talking to the director.

i) Either my friend or John are wrong.

iv) Iam feeling hungry now.

v)  Nandita is tallest girl in the classroom.

vi) He go to the library everyday.

vil)) You want to sing now?

[4701]-151 -2-



03) a)  Write notes on any two of the following. [10]

i)  Risingtone
i)  Rhythm in English

iii) Division of tone groups

b) Divide the following sentences into tone groups and mark accent and

intonation. (any five)

i)  Have you finished?

[10]

i) He came, he saw, and he conquered.
ii) I walked in the park till I got tired.

iv) Good morning friends, can we go to the coffee shop?

v)  Excuse me, will you show me this dress?

vi) He came late to the office.

04) Develop the following points into a good paragraph of about fifteen

sentences.

[10]

What can we do to save our environment?

Necessity of clean environment — save trees — plant more trees —
control on water, air, soil and sound pollution — need to keep villages and
cities clean — Need of simple life — education of environmental awareness.

05) Write a paragraph of about fifteen sentences to convey the information given

below.

[10]

Advantages and Disadvantages of Computer

Advantages
Process a lot of information
Works fast and accurately
Time saving
Fast communication
Quick in calculating

Internet and e-mail

[4701]-151 -3-

Disadvantages
rising unemployment
backache and problems of eyesight
mechanical
cyber-crime
creates laziness

self centred



06) Read the following entries from the Oxford Advanced Learner’s Dictionary
and answer the questions given below. (any five) [10]

ex-clusivity /eksklu'sivat/ (also ex-clu-sive-ness
/ik'sKluzsvnas/) moun [U] the quality of being exclusive:
The resort still preserves o feeling of exclusivity. o a
designer whose clothes have not lost their exclusiveness

ex-com-mu-ni-cate /iekske'mjunikert/ verb (V] ~ sb
{for sth) to punish sb by officially stating that they can no
longer be a member of a Christian Church, especially
the Roman Catholic Church m» ex-com-mu-ni-ca-tion
/ekskamjw:n'kerfn/ noun [U1,C)

ex-cori-ate /ecks'koriert/ verb [vN] 1 (medical) to irri-
tate a person's skin so that it starts to come off 2 (rare,
Jormal) to criticize sb/sth severely p ex-cori-ation noun
w,Q

ex-crement /ekskitmont/ noun [U] (formael solid
waste matter that is passed from the body through the
bowels FAECES: the pollution of drinking water by
untreated human excrement - ex-cre-men-tal adj.

ex-cres-cence /i'skresns/ noun (formal) an ugly
lump that has grown on & part of an animal’s body or on
a plant: (figurative) The rew office block is an excrescence
{= it is very ugly).

ex-creta /ik'skrizta/ noun [U) (formal) solid and liguid
waste matter passed from the body: human excreta

ex-crete /ik'skri:t/ verb |v] (technical) to pass solid or
liquid waste matter from the body M ex-cre-tion
/ik'skrizfn/ roun [U,C]

ex-cru-ci-ating /ik'skrufierty/ adj. extremely pain-
ful: The pain in my back was excruciating. o She groaned
at the memory, suffering all over again the excruciating
embarrassment of those moments. b ex-cru-ci-at-Ing-ly
adv.: excruciatingly uncomfortable ¢ excruciatingly pain-
ful/ boring/embarrassing

ex-cul-pate ,‘ckskalperi verb [vN] (formal) to prove or
state officially that sb is net guilty of sth » ex-cub-pa-
tion noun [U]

ex-cur-sion /ik'ska:fn; AmE k'ska:rm/ nown 1a short
journey made for pleasure, especially one that has been
organized for a group of people: They've gone on an
excursion to York. 2~ into sth (formal) a short period of
trying a new or different activity: After a brief excursion
into drama, he concentrated on his main interest, which
was poetry.

ex-cus-able /ik'skjuzabl/ adj. [not usvally before nounj
that can be excused: Doing it once was just about excus-
able—doing it twvice was certainly not. INEKCUSABLE

Questions :
i)  Use the word ‘excursion’ in your own sentence.

i) How any syllables are there in the words ‘exclusivity” and ‘excrescence’?
i)  Which syllables are stressed in the words ‘excusable’ and ‘exculpate’?
iv) Transcribe the words ‘excommunicate’ and ‘excusable’ phonemically.
v)  Give the British and the American pronunciations of the word ‘excursion’.

vi) Give two meanings of ‘excoriate’.

SRR
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F.Y. B.A. (Vocational)
COMPUTERAPPLICATIONS -1

(2008 Pattern) (Theory) (Paper -1I)

yTIime : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1) Draw a neat-labeled diagram wherever necessary.

2) Figures to the right indicate full marks.

Q1) Answer the following (Any Three) : [15]
a) Explain Mail Merge Operation in Word Processing.
b) Whatis Pointing devices ? Explain any two devices.
c) Explain any 5 characteristics of computer.
d) Whatis email ? Explain use of email.

e) Primary and Secondary Memory.

02) Solve the following : [10]
a) Convert from Binary to Decimal :
) 101011=()
i) 10111=() ,
b) Convert from binary to octal :
) 101010111 =(),
i) 101011000 = (),
c) Solve using 2’s complement method.
1101 +1001
d) Binary Subtraction :
10101 +0101

e) Binary Multiplication
11001 * 111

PTO.



03) Write short notes (Any Five) :

a)
b)
c)
d)
e)
f)

Mouse.
Dot Matrix printer.

DVD.
Paint Brush.
Hexadecimal numbering system.

Search Engine.

SR
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F.Y. B.A. (Vocational)
COMPUTER APPLICATION
(2008 Pattern) (Paper - II)
yTIime : 2 Hours] [Max. Marks : 40

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the Right indicates full Marks.

Q1) Answer the following (Any Five) [20]
a) Define array, insert 5 characters in an array called letters
b) Explain Structure in C
c) Define Flow chart and draw flow chart to find an even no.
d) Explain numerical data typesin C
e) Explain string functions in ‘C’
f)  Explain Pointers in C

g) Explain functions in C

Q2) Write a program to solve the following (Any Two) [10]
a) Find Area of a circle

b) To print Fibonacci series

c) Todisplay multiplication of table

P.T.O.



03) Find the out put [10]
a) # include <stdio.h>

void main ()

{
int sub [50], i;
for(i=0;i<=48;itt);
{
subl[i]=1;
printf (“\n%d”, subl[i]) ;
}
b) # include <stdio.h>
void main ()
{
int num[26], temp;
num[0]=100;
num [25] =200;
temp = num|[25] ;
num|[25] =num[0] ;
num[0] = temp ;
printf (“\n%d %d”, num[0], num[25]) ;
}

e
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